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1 CHAIRMAN: 1 expert and testifying in this matter. If the
2 Q. So, | think Mr. Young, I'm going right to you. 2 witness is able to be sworn or affirmed.
3 MR. YOUNG: 3 MR. ROBERT GRENEMAN (AFFIRMED) EXAMINATION-IN-CHIEF BY
4 Q. Thank you, Mr. Chair, | appreciatethat. As 4 MR. GEOFFREY YOUNG
5 the parties and the Board are aware, there was 5 MR. YOUNG:
6 apretty late breaking settlement on - 6 Q. Mr. Chair, | don't have much in the way of
7 CHAIRMAN: 7 direct, other than to flesh out the matters
8 Q. Late breaking news. 8 that | just discussed, so | would suggest that
9 MR. YOUNG: 9 Mr. Greneman is ready for cross-examination.
10 Q.- late breaking news Friday afternoon, latein 10 CHAIRMAN:
11 the afternoon. Some parties were able to 11 Q. So, | guess, we'reto Mr. O’ Brien.
12 achieve another settlement in the cost of 12 MR. ROBERT GRENEMAN - CROSS-EXAMINATION BY MR. LIAM
13 service matters.  Of course, therewas an 13 O'BRIEN:
14 earlier one and thislast one settles all but 14 MR. O'BRIEN:
15 afew of theissues. The partiesonly had an 15 Q. Thank you, Mr. Chair. Good morning, Mr.
16 opportunity to execute that this morning, but 16 Greneman.
17 | think the issues that have been settled have 17 MR. GRENEMAN:
18 been understood by the parties for sometime 18  A. Good morning.
19 because the discussions had largely ended a 19 MR. O'BRIEN:
20 week or two ago. | won't gothrough the 20 Q. My nameisLiam O'Brien. I'm here asoutside
21 settlement in detail; everybody hasit. And | 21 counse for Newfoundland Power. | do havea
22 think the Board isaware of it, but | will 22 few questionson a coupleof areas here.
23 just briefly touch upon the issues which 23 Maybe what we could do is start with the rural
24 remain unresolved and which | understand 24 deficit. With respect to the reports that
25 cross-examination is going to go on. I'm not 25 you've tendered into evidence here for this
Page 2 Page 4
1 going to suggest these are water tight 1 hearing, | believe there were two. Isthere
2 compartments and thisis the only thing. But 2 one from July of 2013, and then an addendum to
3 the three items that | understand, most 3 that in October of 2014, isthat right?
4 parties have aninterest inandthat cross 4 MR. GRENEMAN:
5 examination is going to commence this morning 5 A.Whichwould be known as Exhibit 9, and the
6 about and continue on for afew days at least 6 addendum to Exhibit 9, yes, that is correct.
7 Is, first, the alocation of the rural 7 MR. O'BRIEN:
8 deficit; the treatment of operating and 8 Q. Theinitia report thenin July of 2013 for
9 maintenance costs and its particularly 9 Exhibit 9, that report doesn’t include any
10 assigned methodology and thetest your load 10 opinion from you with respect to the
11 forecast and except for those three matters, 11 dlocation of the rural deficit, does it?
12 most everything el se has been resolved. We're 12 Perhaps you can just quickly turn toit.
13 pleased to be ableto bring that newsto the 13 MR. GRENEMAN:
14 Board this morning. 14  A.ldon't believeit does.
15 CHAIRMAN: 15 MR. O'BRIEN:
16 Q. So, we're now ready to go to your witness. 16 Q. Andl believeat the outsetin theinitial
17 MR. GLYNN: 17 filing, Hydro didn’t take a position on any
18 Q. Just one second, wejust want to enter that 18 methodology change with respect to the
19 officially on therecord as Consent No. 2. 19 alocation of the rura deficit. 1I'm
20 Thank you. Now we can go to the witness. 20 wondering were you asked to consider it at the
21 CHAIRMAN: 21 outset whether there should be a methodol ogy
22 Q. Now, we can go to the witness. 22 changein alocation?
23 MR. YOUNG: 23 MR. GRENEMAN:
24 Q. Thank you, Mr. Chair. I’'m pleased to present 24 A.When you say "the outset”, do you mean at the
25 Mr. Robert Greneman as Hydro's cost of service |25 time of writing of the original exhibit?
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1 MR. O'BRIEN: 1 MR. GRENEMAN:
2 Q. Exactly. 2 A.Excuse me, may | - just give me one moment.
3 MR. GRENEMAN: 3 MR. O'BRIEN:
4 Al honestly do not recall. 4 Q. Oh,sure.
5 MR. O'BRIEN: 5 MR. GRENEMAN:
6 Q.Okay. Thefirst | see in the evidence where 6 A.lIsthisthe addendum we're looking at?
7 you have expressed an opinion in any sort of 7 MR. O'BRIEN:
8 fashion iswith the rebuttal evidence the 8 Q. Thisisthe addendum we're looking at, yes.
9 following year, isthat accurate? 9 MR. GRENEMAN:
10 MR. GRENEMAN: 10 A. Andwhat pageisthat in the -
11 A.l believethat is accurate, yes. 11 MR. O'BRIEN:
12 MR. O'BRIEN: 12 Q. It'sPage 1 of the addendum after the Table of
13 Q. And canyou tell me sort of why at that point 13 Contents.
14 intimeyou had expressed an opinion on the 14 MR. GRENEMAN:
15 alocation, what triggered that? 15 A. Yeah
16 MR. GRENEMAN: 16 MR. O'BRIEN:
17 A.| had reviewed the Board’' s methodology in its 17 Q. Okay. So thesecond sentence there under
18 1993 Order. | had reviewed Hydro's analysis, 18 Section 2.1, "The parties generally agree that
19 and | had given my own thought to the issues 19 paying for the under-recovery of costsfrom
20 and had expressed my opinion on that. 20 other customers was not a cost of service
21 MR. O'BRIEN: 21 issue, but rather one of fairness'. Do you
22 Q. Sowhenyou say you reviewed Hydro's analysis, |22 agree with that analysis?
23 were you given an analysis by Hydro to review 23 MR. GRENEMAN:
24 and ask is this an appropriate way of 24 A.ldo.
25 alocating or arethese appropriate way of 25 MR. O'BRIEN:
Page 6 Page 8
1 alocating the rural deficit, do you recall? 1 Q. Okay, and interms of fairness, what we're
2 MR. GRENEMAN: 2 talking about here is the result, not
3 A.Ingenerd, | would say yes, but | had applied 3 necessarily the methodology, is that right?
4 my own thought to my own conclusions and my | 4 MR. GRENEMAN:
5 own reasoning in addition. 5 A.Thatiscorrect.
6 MR. O'BRIEN: 6 MR. O'BRIEN:
7 Q. lsthisthe first timeyou’ ve been asked to 7 Q. Okay, and because we're really talking about
8 consider thistype of an alocation and a cost 8 the under-recovery of costs from other
9 of service study? 9 customers as opposed to acausal link with
10 MR. GRENEMAN: 10 these customers, we'reredly talking about
11 A.Inany jurisdiction, in any direct fashion, it 11 which type of result is theleast unfair, is
12 is. 12 that what we're looking at? It’'snot really
13 MR. O'BRIEN: 13 fair no matter which way welook at it?
14 Q. Okay, andin terms of your October - so 14 MR. GRENEMAN:
15 Exhibit 9, if we could just turn to the 15  A. | hesitate to agree with you.
16 addendum and Page 1 of that. 16 MR. O’'BRIEN:
17 MR. GRENEMAN: 17 Q. And why isthat?
18 A.Yes 18 MR. GRENEMAN:
19 MR. O’'BRIEN: 19  A. |l just haven't thought of al the implications
20 Q. Okay. I'll just get it up on the screen here. 20 yet, but | have not thought of it in terms of
21 So Section 2.1 there on Page 1, thisisyour 21 the least unfair.
22 comments on therural deficit allocation, we 22 MR. O'BRIEN:
23 start at 2.1, and the second sentence there, 23 Q. Okay, but if we talk about from a general
24 "The parties generally agree that paying for 24 perspective, none of these costs that we're
25 the under-recovery of costs from other - 25 talking about allocating were caused - there’s

Discoveries Unlimited Inc., Ph: (709) 437-5028

Page 5 - Page 8




September 28, 2015

Multi-Page™

NL Hydro GRA

Page 9 Page 11
1 no causal relation to either the Labrador 1 asked to do thistype of an allocation and a
2 Interconnected customers or Newfoundland 2 cost of servicestudy beforeother than in
3 Power’ s customers, isthat right? 3 this one?
4 MR. GRENEMAN: 4 MR. GRENEMAN:
5 A.Thatiscorrect. 5 A. Per se specificaly this, | have not.
6 MR. O'BRIEN: 6 MR. O'BRIEN:
7 Q. Sointermsof whichever way wedliceit for 7 Q. Would you agree with me that there could be a
8 an allocation, it’s not fair to either party, 8 number of different ways of allocating this,
9 isit, they didn’t cause those costs? 9 al of which could seem fair?
10 MR. GRENEMAN: 10 MR. GRENEMAN:
11 A. There'sno causal cost relationship. 11 A. It would depend upon the viewer. What seems
12 MR. O'BRIEN: 12 fair to one party may not seem fair to another
13 Q. Sowhichever way welook at it, it'sunfair 13 party.
14 for each party because they have to pay costs 14 MR. O'BRIEN:
15 that they didn’t cause? 15 Q. Okay.
16 MR. GRENEMAN: 16 MR. GRENEMAN:
17 A.l don’'t know that | would go so far asto say 17 A. So | would not necessarily agree, that there
18 it'sunfair for each party to pay the cost of 18 may be several ways that would seem fair to
19 another entity. | don't know if I'd make that 19 the same party.
20 bridge and say that. 20 MR. O'BRIEN:
21 MR. O'BRIEN: 21 Q. Okay, so there could be any number of opinions
22 Q. Soyou wouldn’t necessarily go that far? 22 in this room expressed on that, and some may
23 MR. GRENEMAN: 23 be fair and - with some elements, some may be
24 A. | would not necessarily go that far, correct. 24 fair; with other elements, some may be unfair
25 MR. O'BRIEN: 25 with other elements, isthat fair to say?
Page 10 Page 12
1 Q. Are there any sort of cost of service 1 MR. GRENEMAN:
2 principles that would be applicableto an 2 Al suppose.
3 alocation of thistype of cost? 3 MR. O'BRIEN:
4 MR. GRENEMAN: 4 Q. There sany number of ways you can look at
5 A.Ingenera, | would say - in general, | would 5 this.
6 say not. 6 MR. GRENEMAN:
7 MR. O'BRIEN: 7  A.| suppose so.
8 Q. .Soweresort of talking about an arbitrary 8 MR. O'BRIEN:
9 exercise when it comes down to it? 9 Q. Andany one of us can come up with an opinion
10 MR. GRENEMAN: 10 that says it's fair. In terms of your
11 A.lwould not characterizeit as an arbitrary 11 expertise in what would be considered fair in
12 exercise. | apologize for being evasive, but 12 thistype of an analysis, do you have any
13 | would not characterize it as an arbitrary 13 specific expertise in what’ s fair?
14 exercise necessarily. 14 MR. GRENEMAN:
15 MR. O'BRIEN: 15 A.I’'mnot sure of theword "expertise” isthe
16 Q. Canyou explain that to mewhy youwouldn’t 16 appropriate word to be applied to this
17 characterize it as arbitrary? 17 exercise.
18 MR. GRENEMAN: 18 MR. O'BRIEN:
19  A. Arbitrary to meisrandom, and | don't think 19 Q. Okay, so, | mean, in -
20 random principles would apply in this case. 20 MR. GRENEMAN:
21 That isto say, you can’t put your hand in a 21 A.It'snot ascientific one.
22 hat and pick out any result and use it without 22 MR. O'BRIEN:
23 controversy. 23 Q. Right, okay, that's where | was going, |
24 MR. O'BRIEN: 24 guess, there' s no scientific method here. |
25 Q. Okay. You'veindicated that you haven't been 25 mean, ultimately the experts in this
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1 particular analysis would be the Board because 1 Labrador Interconnected rural customers of 2.1

2 they have to ultimately decide what’sfair. 2 percent would increase to approximately 27. 8

3 Nobody is going to get up on the stand and 3 percent if the existing methodology was

4 talk about this and say I'm an expert in 4 maintained”, and that’ s the increase that we

5 fairness. 5 saw intheinitial filing. "The proposed rate

6 MR. GRENEMAN: 6 increase for 2.8 for Newfoundland Power’s

7 A. | would agree with that. 7 customers would decrease to approximately 2. 1

8 (9:30am.) 8 if the existing methodology was maintained”.

9 MR. O'BRIEN: 9 So again we' re talking about a concern about
10 Q. Okay. | want to point to acouple of the - 10 impact and rates, and that’swhat really drove
11 read to you afew of the excerpts from the 11 thereview of Hydro in this matter, isthat
12 evidence here. First if we could pull up the 12 right?

13 2013 rebuttal evidence from May of 2014, 13 MR. GRENEMAN:
14 sorry, so from the initia filing, the 14  A.l understand that the Consumer Advocate was
15 rebuttal evidence of May of 2014, and Page 2 15 one party that initiated thisreview, so |
16 of that. Really I’'m looking at lines1to 9. 16 don’'t know that it was Hydro al alonethat
17 I’m going to read to you these sectionsand | 17 initiated it.
18 just want you to consider them. Inlines 1 to 18 MR. O’'BRIEN:
19 9, Hydro' srebuttal evidence indicate, " That 19 Q. Okay, no, and that'sfair to say, there were
20 approximately 30 percent of the forecast 2000 20 other parties that had concerns about impact.
21 test year revenue requirement from customers 21 | guess, my point beingis that it wasn't
22 on the Labrador Interconnected System is 22 necessarily a methodology thing that drove
23 attributable to therural deficit. This 23 this, it was more an impact thing that drove
24 comparesto approximately 12 percent of the 24 it?
25 forecast 2000 test year revenue requirement 25 MR. GRENEMAN:
Page 14 Page 16

1 from customers of Newfoundland Power. The 1 A. It appearsthat that might be true.

2 material difference in the rate impact on the 2 MR. O'BRIEN:

3 customers on the Labrador Interconnected 3 Q. Andyou indicated earlier that in order to

4 System and the rate impact on the customers of 4 prepare some rebuttal evidence, you looked at

5 Newfoundland Power has created a concern with 5 the Board's Order from the generic cost of

6 respect to the reasonableness of the rural 6 service hearing in’ 92, is that right?

7 deficit alocation”. Soit appears at least 7 MR. GRENEMAN:

8 from this statement that Hydro is concerned 8 A. That was one of the documents | looked at.

9 about impact asitsmain concern in terms of 9 MR. O'BRIEN:

10 fairness here, isthat fair to say? 10 Q. Andyou'refamiliar then with that particular

11 MR. GRENEMAN: 11 document and what the Board ordered at that
12 A.l would say it'sfair to say that Hydro and a 12 time?

13 number of other entities are also concerned 13 MR. GRENEMAN:

14 with the issue. 14  A.ldon't know it verbatim, but | have reviewed
15 MR. O'BRIEN: 15 it.

16 Q. But impact was what was driving this, is that 16 MR. O’'BRIEN:

17 correct? 17 Q. And do you recall whether or not the Board had
18 MR. GRENEMAN: 18 considered the idea of impact at that time?

19 A Asit'sstated, it appearsthat way, yes. 19 MR. GRENEMAN:

20 MR. O'BRIEN: 20 A. TheBoard had considered the concept of impact
21 Q.Andif wegoto theevidencefrom the 2014 21 at that time.

22 filing, Section 4, and it'sPage 4.7, lines 18 22 MR. O'BRIEN:

23 to21. There sadiscussion here about the 23 Q. And how wasit that the Board decided impact
24 proposed rate increase again in terms of 24 should be dealt with?

25 background. "The proposed rate increase for 25 MR. GRENEMAN:
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1 A. My recollection at that time is that the Board 1 indicating it was amini cost of servicetype
2 indicated that, and I’'m going from memory, 2 of approach?
3 impact might be considered in terms of rate 3 MR. GRENEMAN:
4 design and phase in-intermsof phasein, 4 A.ldorecal those words.
5 and | would needto look it up, but I 5 MR. O'BRIEN:
6 understand that the Board also indicated that 6 Q. Yeah, and you prepared yourself for the 2013
7 this matter of impact could be a continuing 7 cost of service, you made some calculations on
8 issuein alater Order. 8 the basis of Mr. Baker’smini cost of service
9 MR. O'BRIEN: 9 approach, isthat right?
10 Q. Okay. | think you'reright in terms of what 10 MR. GRENEMAN:
11 the Board had indicated. The Board did 11 A. Canyou direct meto that?
12 separate the idea of methodology of alocation 12 MR. O'BRIEN:
13 from the idea of impact by saying impact isa 13 Q. Sure, let’shave alook at that. If we look
14 rate design thing you could look at, isthat 14 at the 2013 filing, Exhibit 13, and Schedule
15 correct? 15 1.2.1, and Pagel of that | believe itis,
16 MR. GRENEMAN: 16 1.2.1. | thinkit's upin thetop right
17 A.l don't know if it's been separated per se, 17 corner there. Okay, if we can make that a
18 but they have talked about impact separately. 18 little bit bigger for Mr. Greneman. So we see
19 | can't say that it's been separated per se. 19 in columns 3, 4, and 5, demand energy
20 MR. O'BRIEN: 20 customer, there's three sort of commodities
21 Q. So whenthe Board says that theissue of 21 that were looked at for the unit cost
22 impact or rate shock could be dealt with by 22 approach. If welook down under underlined
23 way of rate design, they’re not separating the 23 10, we see $15.27 per kilowatt for demand,
24 two? 24 $6.10 per megawatt hour for energy, and $67.01
25 MR. GRENEMAN: 25 per customer ona dollar basis. You made
Page 18 Page 20
1  A.I'm not sure actualy that an isolated 1 those calculations, did you?
2 statement about rate impact separates the 2 MR. GRENEMAN:
3 issues or not. 3 A.ldidnot.
4 MR. O'BRIEN: 4 MR. O'BRIEN:
5 Q. That wasn't your understanding then from 5 Q.You did not, okay. Who made those
6 reading that? 6 calculations?
7 MR. GRENEMAN: 7 MR. GRENEMAN:
8 A.It'snot necessarily my conclusion. 8 A. That was Hydro that made those calculations.
9 MR. O'BRIEN: 9 MR. O'BRIEN:
10 Q. Okay, and the approach back in 1992 that the 10 Q. Allright. Atany point haveyou looked at
11 Board ultimately landed on was aunit cost 11 the unit cost approach in making calculations
12 approach, isthat right? 12 for the purposes of Hydro’ s filings?
13 MR. GRENEMAN: 13 MR. GRENEMAN:
14  A.Yes, | think it could be characterized that 14  A.l have.
15 way. 15 MR. O’'BRIEN:
16 MR. O’'BRIEN: 16 Q. You have?
17 Q. And I think that's probably the way the 17 MR. GRENEMAN:
18 expert, Mr. Baker, had characterized it, but 18 A.Yes
19 it was more a commodity approach, | think, is 19 MR. O’'BRIEN:
20 what he characterized it in hisevidence, is 20 Q. Okay, and at what point did you look at them?
21 that right? 21 MR. GRENEMAN:
22 MR. GRENEMAN: 22 A.Inmy general review.
23 A.| donot know. 23 MR. O'BRIEN:
24 MR. O'BRIEN: 24 Q. So the initia calculations were done by
25 Q. Allright. It wasamini - do you recall him 25 Hydro, but did you review them after before
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1 filing? 1 A.ltis, that'strue.
2 MR. GRENEMAN: 2 MR. O'BRIEN:
3 A.lbdievel did. 3 Q.Andthat revenue method that was considered
4 MR. O'BRIEN: 4 back in 1992?
5 Q. Soif welook at those calculations then under 5 MR. GRENEMAN:
6 demand, energy, and customer, theideais that 6 A.Itwasadvanced by Hydro in 1992.
7 using Mr. Baker’ s approach, each one of those 7 MR. O'BRIEN:
8 would be equal for the Labrador Idand 8 Q. Andit wasrejected by the Board at that time?
9 customers and Newfoundland Power Customers, is 9 MR. GRENEMAN:
10 that right? 10 A.Yes.
11 MR. GRENEMAN: 11 MR. O'BRIEN:
12 A. My understanding is they would be equal and as 12 Q. Anddo you know why it wasrejected by the
13 an average they would represent neither the 13 Board at that time?
14 Island Interconnected nor Labrador. 14 MR. GRENEMAN:
15 MR. O'BRIEN: 15  A.No.
16 Q. Soit'ssome sort of mishmash that an average 16 MR. O'BRIEN:
17 would represent that, but not necessarily one 17 Q. It'smy understanding that it was rejected
18 or the other in isolation? 18 because the Board had some concerns about the
19 MR. GRENEMAN: 19 fact that it would look as though Newfoundland
20  A. Definitely not one or the other. 20 Power’ s customers, who were paying higher on a
21 MR. O'BRIEN: 21 cost of service basis, were going to be asked
22 Q. Sothe more recent calculation that Hydro has 22 to pay higher because they’re already paying
23 done for its 2014 filing is not based on Mr. 23 higher on arevenue requirement basis. Does
24 Baker’s method, is that right? 24 that make sense?
25 MR. GRENEMAN: 25 MR. GRENEMAN:
Page 22 Page 24
1 A.ldon'tbelieve so. 1 A.Doesit make sense? You'retelling me what
2 MR. O'BRIEN: 2 the Board' s reasoning is?
3 Q Anditprovided acoupleof aternativesto 3 MR. O'BRIEN:
4 Mr. Baker's method, is that right? 4 Q. Yeah, yeah.
5 MR. GRENEMAN: 5 MR. GRENEMAN:
6 A.That'scorrect. 6 A.And I'll accept your opinion of what the
7 MR. O'BRIEN: 7 Board' sreasoning is.
8 Q. And were they based on your recommendationor | 8 MR. O'BRIEN:
9 was it something that Hydro came up with 9 Q. Okay.
10 themselves and you agreed with it? 10 MR. GRENEMAN:
11 MR. GRENEMAN: 11 A.ldon’'trecall that, butifit's true, it's
12 A.ltis something that Hydro advanced as the 12 true.
13 recommended solution in 1992, and continuedto {13 MR. O'BRIEN:
14 advance in this proceeding, and my independent 14 Q. Butisthat aconcern for you if Newfoundland
15 review of what the Board did in 1992, and as 15 Power’ s customers, who are paying higher on a
16 ordered in 1993, and of Hydro's analysis, | do 16 cost of service basis, are being asked to pay
17 believe that the revenue method of allocation 17 more just because they’'re aready paying
18 isthemost fair method. It has attributes 18 higher on a cost of service basis? That's how
19 that the current method does not have. 19 the revenue requirement method would work,
20 MR. O'BRIEN: 20 wouldn’t it?
21 Q. Soit’'syour belief that the revenue method is 21 MR. GRENEMAN:
22 the appropriate belief as opposed to the cost 22 A.Canyou repeat that question?
23 method where each customer has the same cost 23 MR. O'BRIEN:
24 alocation? 24 Q.Okay. Ona revenue requirement basis, you
25 MR. GRENEMAN: 25 would take each customer, each group, and look
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1 at the revenue requirement and determine on 1 MR. O'BRIEN:
2 how to make the allocation. 2 Q. InHydro'sevidencethat usesa - if weturn
3 MR. GRENEMAN: 3 to Page 4.9 of the Evidence, Table4.2. The
4 A Right. 4 revenue to cost ratio, did you have any
5 MR. O'BRIEN: 5 involvement in preparing this particular
6 Q.Butif onegroup like Newfoundland Power’s 6 table?
7 customers are already paying higher on a cost 7 MR. GRENEMAN:
8 of service basisthan the other group, the 8 A.ldidnot.
9 Labrador customers, then they are going to be 9 MR. O'BRIEN:
10 asked to pay more on the revenue requirement 10 Q. Haveyou seen the table before?
11 basis because they’ re already paying higher - 11 MR. GRENEMAN:
12 MR. GRENEMAN: 12 A.l have
13  A.Yes 13 MR. O'BRIEN:
14 MR. O'BRIEN: 14 Q.Okay. Thecost of servicestudy itself, |
15 Q. Isthat right? 15 think these figures might come out of that
16 MR. GRENEMAN: 16 study itself. When you look at revenueto
17  A.No, it'snot because - the "because" isnot 17 cost ratios, | guess there’'s anumerator and a
18 the central link in what you said. 18 denominator, isthat right? The numerator is
19 MR. O’'BRIEN: 19 your revenue and the denominator is your cost?
20 Q. Explain that to me? 20 MR. GRENEMAN:
21 MR. GRENEMAN: 21 A.Yes, correct.
22 A.They'renot being asked to pay more because, 22 MR. O'BRIEN:
23 as you posed the question, so | don’t accept 23 Q. Soin order to come up with atrue revenue to
24 the premise of the question. It's not 24 cost ratio, you would put in all revenue and
25 "because they were paying higher", it'sfor a 25 al cost, isthat right; otherwise, it doesn’t
Page 26 Page 28
1 different reason. 1 make sense?
2 MR. O'BRIEN: 2 MR. GRENEMAN:
3 Q And what's the other reason, what’'s the 3 A.I'll accept that provisionally, yes.
4 reason? 4 MR. O'BRIEN:
5 MR. GRENEMAN: 5 Q.Okay. So inthisparticular case, we don't
6 A. Wdl, that's expressed in the evidence. 6 have - in order to get the Labrador
7 MR. O'BRIEN: 7 Interconnected to 1.42,1 presumewhat has
8 Q. Sothereasonis- maybeyou could tell me? 8 been done hereis that the portion of the
9 MR. GRENEMAN: 9 alocation from the rural deficit is put into
10 A. Thecurrent method, | believe, isunfair. If 10 the revenue, into the numerator, but it’'s not
11 there' s another methodology under which NP 11 put into the denominator?
12 pays more, the reason is not because they were 12 MR. GRENEMAN:
13 paying more before. | don't - you sort of 13 A. That's my understanding.
14 expressed it as a necessary link, which didn’t 14 MR. O'BRIEN:
15 sit right with me. 15 Q. Okay. Doyou use thesetypesof ratiosto
16 MR. O’'BRIEN: 16 analyze fairness for allocation of non-costs,
17 Q. Okay, well, maybe if | putit this way, 17 isthat something that’s generally done?
18 perhaps there’ s no necessary link in that the 18 MR. GRENEMAN:
19 Board issaying you pay that because you're 19 A. Fornon-
20 paying higher, but it would look as though 20 MR. O'BRIEN:
21 that's what's happening, isn’'t that the 21 Q. For non-costs?
22 outcome? 22 MR. GRENEMAN:
23 (9:45am.) 23 A. Non-costs?
24 MR. GRENEMAN: 24 MR. O'BRIEN:
25  A. Perhapsto some viewers, perhaps not to all. 25 Q. Yeah.
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1

Page 29
MR. GRENEMAN:

Page 31
say that | have seen it.

1

2 A.lthink what we'relooking at here when you 2 MR. O'BRIEN:

3 talk about what is generally done, | would 3 Q. If wehad asituation where one of the other

4 say, yes, that isincluded for non-cost. 4 options here that Hydro has put forward is

5 MR. O'BRIEN: 5 each customer sort of pays the same on

6 Q. Soif youhada non-cost here, wouldn’t we 6 average-

7 have the deficit put into the cost aswell as 7 MR. GRENEMAN:

8 put into the revenuein order to get atrue 8 A. Thesamewhat?

9 ratio? Y ou should come up with 1, shouldn’t 9 MR. O'BRIEN:
10 you? 10 Q. Thesameallocation. I think it's spread out
11 MR. GRENEMAN: 11 - if youlook at both Newfoundland Power and
12 A. That’snot theway it works in Canada, is my 12 the island customers, you have them each
13 understanding. 13 paying the same on an annual basis.
14 MR. O'BRIEN: 14 MR. GRENEMAN:
15 Q. Okay. Whenyou usethese revenueto cost 15  A.l don’'t under "the same".
16 ratios generally, are they used for sort of 16 MR. O’'BRIEN:
17 tweaking rates to see if, say, one customer is 17 Q. Maybewecan havealook at the- if we move
18 paying alittle bit more than their cost or a 18 towards - just scroll down there. The
19 little bit less, you tweak theratesjust so 19 aternative approaches, here we go, the number
20 you try to get it as close to 1 as possible, 20 of customers method, and, | guess, theidea
21 that’ s what they’ re used for generaly, isn’t 21 there isthat Labrador Interconnected and
22 it? 22 Newfoundland Power customers, if you used the
23 MR. GRENEMAN: 23 number of customers method, they’d all pay the
24  A.That isonething they are used for. 24 same on average. Areyou familiar with that
25 MR. O'BRIEN: 25 particular method?

Page 30 Page 32

1 Q. They'renot generally used asameasure of 1 MR. GRENEMAN:

2 fairness, are they? 2 A. Areyou referring to Hydro' s second preferred

3 MR. GRENEMAN: 3 method?

4 A.They could be used as a measure of fairness. 4 MR. O'BRIEN:

5 MR. O'BRIEN: 5 Q. Yes

6 Q. Haveyou ever seen them used asameasure of 6 MR. GRENEMAN:

7 fairnessin thistype of situation? 7 A.Tome, the revenue alocation method isfar

8 MR. GRENEMAN: 8 superior to that.

9 A.Yes 9 MR. O'BRIEN:
10 MR. O’'BRIEN: 10 Q. Okay. If you usethe number of customers
11 Q. And where would you have seen that? 11 method, you wouldn't necessarily get the
12 MR. GRENEMAN: 12 revenue to cost ratios being the same asyou
13 A.l think it could happen in amost every 13 did with the revenue allocation method, would
14 jurisdiction. For example, my understanding 14 you?
15 is, for example, in Nova Scotia, there isa 15 MR. GRENEMAN:
16 range in revenue to cost coverage of, and I'm 16 A.lamnot sure. | would need to look at it and
17 going by memory and subject to check, of 0.95 17 study it.
18 t0 1.05. Soif the Commission or the Board 18 MR. O'BRIEN:
19 says, well, weshould make domestic, for 19 Q. Okay, but you're putting forward the revenue
20 example, alittle bit less, and, for example, 20 requirement as the -
21 general service, for example, may pick up the 21 MR. GRENEMAN:
22 difference, and | would characterize for 22 A. Persondly, that is my preference.
23 purpose of thisdiscussion that the subsidy, 23 MR. O'BRIEN:
24 if you will, to domesticis anon-cost to 24 Q.Okay. Now in terms of that revenue
25 general service. Soin that context, | would 25 requirement method, has anything in terms of
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1 the essential underpinnings of the method 1 Q. Sothere' sreally no change for the Board this

2 changed since 19927 2 time around than from 1992 in terms of those

3 MR. GRENEMAN: 3 underpinnings?

4 A They have. 4 MR. GRENEMAN:

5 MR. O'BRIEN: 5 A.lIt's redly hard to say what the Board

6 Q. Andwhat'sthat? 6 understood in 1992. | wasn't there, and |

7 MR. GRENEMAN: 7 would only be surmising what the Board

8  A. Subsequent to 1992, uniform rates were phased 8 anticipated with respect to any future impact.

9 inin Labrador. Customersin Labrador did not 9 MR. O'BRIEN:

10 pay the rural deficit until 2002, at which 10 Q. Waéll, | understood from reading the Board's

11 timethe charge for the rural deficit was 11 Order, that the Board understood the L abrador

12 largely offset by the cFB Goose Bay secondary 12 customerswould pay twice what Newfoundland

13 credit. In 1992, industrial customers were 13 Power’s customers would as aresult of the

14 subject to the allocation of the rural 14 1992/1993 order. Is that your understanding

15 deficit. Subsequent to that, they were not. 15 aswell?

16 | believe those are the principal changes. 16 MR. GRENEMAN:

17 MR. O'BRIEN: 17 A.l would havetoread it again.

18 Q. Those arethe principal changes, and that 18 MR. O’'BRIEN:

19 comes down really to impact, though, doesn’t 19 Q. Okay, but subject to check, if that’s what the

20 it, whether or not they’re being reflected in 20 Board said, that’sreflective of the Board

21 the rates versus whether or not the 21 understanding there’ s going to be an impact to

22 methodology is the appropriate methodol ogy? 22 Labrador customers which is different than the

23 MR. GRENEMAN: 23 impact to Newfoundland Power’ s customers?

24 A.lmpact on? 24 MR. GRENEMAN:

25 MR. O'BRIEN: 25 A.You'reasking meto say "subject to check"?
Page 34 Page 36

1 Q.In terms of whether or not the Labrador 1 MR. O'BRIEN:

2 customers seeit on their bill, and they 2 Q.Yeah

3 actually feel the impact of that? 3 MR. GRENEMAN:

4 MR. GRENEMAN: 4  A.l would haveto even read it to say subject to

5 A. Thisproceeding, | understand, isthe - 5 that very specific sentence, or any

6 MR. O'BRIEN: 6 qualifications. | can't even say, subject to

7  Q.lIsthefirst time- 7 check.

8 MR. GRENEMAN: 8 MR. O'BRIEN:

9 A.Thefirst inwhichthey would see thefull 9 Q. Okay. Interms of where we are now, | guess,
10 impact. 10 the present allocation method would have
11 MR. O'BRIEN: 11 essentially each customer paying based on
12 Q. They would have seen the full impact, but for 12 those combination of factorsthat we looked
13 the subsidies after 1992 and those changes, is 13 at, the demand per kilowatt, the energy per
14 that right? 14 kilowatt hour, and customer base aswell, is
15 MR. GRENEMAN: 15 that right? There' s anumber of factors that
16 A. |l would agree with that. 16 are looked at.

17 MR. O'BRIEN: 17 MR. GRENEMAN:

18 Q. Sothe Board at that time knew or ought to 18 A.Thoseare three of them, but not the only
19 have known that the impact was coming. They 19 three.

20 wouldn’t have necessarily foreseen what was 20 MR. O'BRIEN:

21 going to happenin thefuture interms of 21 Q. What other factors?

22 subsidies? 22 MR. GRENEMAN:

23 MR. GRENEMAN: 23 A. Per unit, you say?

24 A. Okay. 24 MR. O'BRIEN:

25 MR. O'BRIEN: 25 Q. Yeah, per unit, based on the present
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1 methodol ogy? 1 A Yes

2 MR. GRENEMAN: 2 MR. O'BRIEN:

3 A.And the other factors are usage 3 Q. Okay, so isn't there a reasonablenessthere

4 (unintelligible). 4 with the present method because of that,

5 MR. O'BRIEN: 5 doesn't it weigh both of those issues?

6 Q. Right, okay. 6 MR. GRENEMAN:

7 MR. GRENEMAN: 7 A.ldon'tthink so.

8 A.Right. 8 MR. O'BRIEN:

9 MR. O'BRIEN: 9 Q. Why not?
10 Q. Sowith respect to usagethen, | understand 10 MR. GRENEMAN:
1 that Hydro’s position, and anumber of the 11  A.Theendresult iswhat matters, and | don’'t
12 other intervenors takeissue with the fact 12 think that the end result isfair.
13 that Labrador Interconnected customers are 13 MR. O'BRIEN:
14 paying more by virtue of having to use more 14 Q. Sothe endresult inyour mind would have
15 energy on the usage basis, where they'rein a 15 Newfoundland Power’s customers on the revenue
16 colder climate, isthat right? 16 requirement method paying more than Labrador
17 MR. GRENEMAN: 17 Interconnected customers. The table we have
18 A.Thatisafactor. 18 onthe screen right now, that’swhat that
19 MR. O'BRIEN: 19 shows.
20 Q. Okay, and that's really for all intents and 20 MR. GRENEMAN:
21 purposes an accident of location asto where 21  A.Thereare a number of consequencesof the
22 they are, they’rein a colder climate versus 22 revenue method. If you want to pick out one
23 Newfoundland Power’ s customers where they are, 23 of them, the oneyou just mentioned, that
24 isthat right? 24 would be simply just one, but there are
25 MR. GRENEMAN: 25 benefits that outweigh that one that you just

Page 38 Page 40

1 A.It'sin part an accident of location. 1 selected.

2 MR. O'BRIEN: 2 MR. O'BRIEN:

3 Q. And on the other side of things, Newfoundland 3 Q. So theone I'm selectingis cost, right,

4 Power’ s customers are on the island where they 4 that’sjust really the- if welook at who

5 would rely onthermal energy asopposed to 5 pays more, that’s only one factor?

6 Labrador Interconnected customers which 6 MR. GRENEMAN:

7 wouldn’t, and as a result Newfoundland Power’s 7 A.That'sone factor.

8 customersregular rates are higher, isn't that 8 MR. O'BRIEN:

9 right? 9 Q. What other factors should we be looking at?
10 MR. GRENEMAN: 10 (10:00 am.)
11  A.Yes 11 MR. GRENEMAN:
12 MR. O’'BRIEN: 12 A. Other factorsthat are of concernin my view
13 Q. Andagain another accident of location? | 13 are - and thisis not necessarily in terms of
14 think you're struggling with the word 14 importance, but transparency in the process,
15 "accident”, is that right? 15 that is understandability why certain
16 MR. GRENEMAN: 16 customers pay a certain amount with respect to
17  A. That’'s correct. 17 other customers, administrative ease and ease
18 MR. O’'BRIEN: 18 of application. What | think is extremely
19 Q. Okay, but if we assumethenit's because of 19 important that the current methodology does
20 where both groups are located - 20 not have is stability. As customer profiles
21 MR. GRENEMAN: 21 change or asmarket conditions change over
22  A.Yes 22 time, | don’t believe necessarily the current
23 MR. O'BRIEN: 23 method has that, but | do believe that
24 Q. All right? 24 whatever happens in the future with respect to
25 MR. GRENEMAN: 25 the in-feed, climate change, customer profile
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1 changes, that the revenue method is far 1 proportion of their bill. | don’t think, in
2 superior insofar as stability is concerned, 2 my view, that basing this on cost of service
3 and not looking for additional fixes down the 3 structure, rate structure, is the appropriate
4 road. What | think isimportant is perception 4 thing to do, and to do what you just suggested
5 of fairness, which | think the revenue method 5 would be to continue to do that.
6 has, and the current method does not have. In 6 MR. O'BRIEN:
7 terms of public policy, the current 7 Q. Wecould have a situation now in acouple of
8 methodology penalizes customers simply because 8 years time when we have a better
9 they have a lower rate and livein acolder 9 foreseeability as towhat cost of service,
10 climate, and that’spicking out just one 10 putting aside the allocation, where we might
11 variable. | don't believethat the current 11 have to make some changes, anyway, with the
12 method is appropriate for a number of reasons, 12 alocation. Isn't that fair to say?
13 one of whichis that by averaging, it's 13 MR. GRENEMAN:
14 correct for neither the Island interconnected 14  A.l don't think that’s relevant.
15 costumersor for Labrador. It representsa 15 MR. O'BRIEN:
16 solution for neither. 16 Q. No?
17 MR. O'BRIEN: 17 MR. GRENEMAN:
18 Q. When you talk about public policy about 18  A.No.
19 penalizing because one set of customers have a 19 MR. O'BRIEN:
20 lower rate, aren’t we getting back to now one 20 Q. Andwhy?
21 of the concerns the Board had in 1992 about 21 MR. GRENEMAN:
22 Newfoundland Power’ s customers being penalized 22 A.ldon'tthink it'srelevant. | don't think
23 because they already pay a higher rate, when 23 it's appropriate now, and how it would change
24 you use a revenue requirement method? 24 ina few years from now, | don’t think it
25 MR. GRENEMAN: 25 would be appropriate then for the same reason.
Page 42 Page 44
1 A.If that isyour view, then - 1 MR. O'BRIEN:
2 MR. O'BRIEN: 2 Q. Soinyour mind, no matter what happensin the
3 Q. Okay, and couldthere beany other factors 3 future, revenue requirement method hasto be
4 that we're failingto consider here? | 4 the superior method here?
5 understand that those were some that you've 5 MR. GRENEMAN:
6 come up with now, but there could be any other 6 A.Inmy consideration of this, yes, | do.
7 factors? Wearelooking atina few years 7 MR. O'BRIEN:
8 time amajor change to thesystem. I'm 8 Q. Sotherewill be no reason at any time in the
9 wondering whether or not - what your views are 9 futureto revisit thisbased onthe mgor
10 on whether staying with the allocation method 10 changes to the systems?
11 we have now until, say, we haveacost of 11 MR. GRENEMAN:
12 service study that considers the impact of the 12 A.ldo not think so. | think it'sa very
13 change in the systems, some major changesin 13 simple, transparent, explainable, fair
14 the systems, whether that would be 14 methodology. It would behardto envision
15 appropriate? 15 anything that happens that would not make it
16 MR. GRENEMAN: 16 fair.
17 A.l donot think it would be appropriate. 17 MR. O'BRIEN:
18 MR. O'BRIEN: 18 Q. Would there be any factorssuch as, | don't
19 Q. And why not? 19 know, value of service or opportunity costs or
20 MR. GRENEMAN: 20 anything like that that could be considered by
21 A. It dill hangsits hat, so to speak, on cost 21 the Board here, would they have any relevance?
22 of service, and | don't think it’s related to 22 MR. GRENEMAN:
23 components of cost of service per se. | think 23 A.l don't know the answer. Asl said here, |
24 it'srelated to the total result. Revenue 24 would need to think about it.
25 requirement has each customer paying the same 25 MR. O'BRIEN:
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1 Q. Andif that'sthe case, if there arefactors 1 MR. O'BRIEN:
2 that you could require some thought, again why 2 Q. Sorry, A3 Under discussion and
3 wouldn’t it be appropriate to think of that 3 recommendation, line nine and ten -- sorry,
4 and have amore full analysis of this once we 4 line eight to ten, "Hydro's cost of service
5 see what' s going to happen in terms of mgjor 5 study allocates O&M expenses within each
6 changes to the system? 6 system based on original cost gross plant.
7 MR. GRENEMAN: 7 Although this is the most widely used
8 A.Vaueof service opensup alot of areasto 8 methodology to allocate O&M expenses among
9 the extent that value of serviceisreflected 9 North American utilities, it's acknowledged
10 rates which it could be then | would say that 10 that an inequitable allocation of O&M can
11 that acts in support of the revenue method. | 11 result due to significant newer plant
12 would not--no, the answer isno, | don’t think 12 additions associated with certain 1Cs."
13 it would, having thought about it just now. 13 When you say it’sthe most widely used
14 Only to the extent that value of serviceis-- 14 methodology to allocate O& M expenses, are you
15 only to the extent that rates are based on 15 aware of any other methodologies for
16 value of service and nothing else. 16 alocation?
17 MR. O'BRIEN: 17 MR. GRENEMAN:
18 Q. Canyou explain that to me? 18 A.In instances -- in general, without
19 MR. GRENEMAN: 19 extenuating circumstance, as we may be looking
20 A. Or it could be based on value of service. So, 20 at here, | am not offhand familiar with other
21 my view is that the revenue method is equal 21 methodologies. But | am aware of the fact
22 for--an equal percent for both Labrador 22 that where O&M is not appropriately --
23 Interconnected and Island Interconnected if 23 alocated O& M does not appropriately reflect
24 rates are based on cost now or cost and some 24 O&M for certain functionsor customers that
25 component of value of service in the future. 25 O&M may be treated differently by, for
Page 46 Page 48
1 But there are other ways of introducing value 1 example, agreement or segregating out classes
2 of service and for those other waysthat are 2 of plant assets for O&M for separate
3 not directly reflected inratesand the end 3 treatment.
4 revenue requirement, the answer to your 4 MR. O'BRIEN:
5 question, | would say is no. 5 Q. Andwouldthat generally beby agreement as
6 MR. O'BRIEN: 6 opposed to cost of service methodologies that
7 Q. ljust havea few more questionsfor you, 7 you'd be familiar with?
8 Doctor (sic.). The specifically assigned 8 MR. GRENEMAN:
9 charges, you did provide some comment in 9 A. It couldbe by cost of service methodology.
10 rebuttal evidence in 2013, | wonder if we 10 MR. O'BRIEN:
11 could bring that up, May 30, 2014 filing. 11 Q. Allright. Andyou arefamiliar withthis
12 MS. GRAY: 12 particular method which Mr. Dean has offered
13 Q. Sorry, the May - 13 in any other jurisdiction?
14 MR. O'BRIEN: 14 MR. GRENEMAN:
15 Q. May 30, 2014 filing, but it would have been 15  A.Not per se. It may -- and I’'m just guessing
16 under the--yes, okay. Page A3there’'s an 16 here, there arefair value jurisdictionsin
17 appendix there with Mr. Greneman’s--okay, 17 the United States and I’ m only surmising and |
18 yeah, if we can just go back up there under 18 have not looked it up, thatif plant is
19 the heading "specifically assigned charges'. 19 trended or restated at current cost andin a
20 And thisisyour rebuttal evidence, | guess, 20 fair value jurisdiction, that might be
21 with respect to Mr. Dean’s comments. Soin 21 tantamount to what is being proposed here, but
22 this, if welook to page A3, isthat what 22 | have not -- | have no backup as| sit here
23 we're on here? 23 with respect to that.
24 MS.GRAY: 24 MR. O'BRIEN:
25 Q.No,wereon A2 25 Q. Okay. And I noted from your evidence that you
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1 offered an alternative solution here of really 1 A.l donot either.
2 going back and deescalating specifically 2 MR. O'BRIEN:
3 assigned plant additions back to 2007. Is 3 Q. No,okay. Isthere any benefitto doing a
4 that right? 4 more comprehensive analysis rather than make a
5 MR. GRENEMAN: 5 decision right now? Wedo have acost of
6 A.Yes. That wasnotintended to beacomplete 6 service study which we expect to happen in the
7 solution, but only to open the door to 7 next year or two. |sthere any more benefit?
8 discussions on how a more equitable allocation 8 MR. GRENEMAN:
9 could be achieved. 9 A Whenyousay makeadecisionright now, I'm
10 MR. O’'BRIEN: 10 not sure what you're referring to.
11 Q. And actualy, you've taken meto my next 11 MR. O'BRIEN:
12 question. | think that was more what | was 12 Q.| mean for the Board to make a decision right
13 concerned about. That was not necessarily a 13 now to change that methodology, would there be
14 solution; it was more to look at a more 14 any benefit to a more comprehensive review
15 comprehensive analysis down the road. Is that 15 before doing that?
16 right? 16 MR. GRENEMAN:
17 MR. GRENEMAN: 17 A.l don't think there’'sany benefit to doing a
18 A. That’scorrect. 18 more comprehensive review.
19 MR. O'BRIEN: 19 MR. O'BRIEN:
20 Q. Okay. Andwouldyou beaproponent of amore |20 Q. Okay. The last question | had for you, Mr.
21 comprehensive analysis as opposed to right now |21 Greneman, had to do with the hydraulic
22 making this particular change in methodol ogy? 22 variation component to the RSP.
23 MR. GRENEMAN: 23 MR. GRENEMAN:
24 A. | think amore comprehensive analysis hasits 24 A.Yes.
25 meritsin a couple of ways. Number one, older 25 MR. O'BRIEN:
Page 50 Page 52
1 plant tends to require more O&M and newer 1 Q. Yourefamiliar withthat intermsof your
2 plant tends to require less O&M, so by 2 initial evidence. 1'm more concerned about
3 restating plant, old plant to a current value, 3 whether you would support Hydro's position in
4 it sort of equalizes that difference that 4 its evidence that it would be appropriate to
5 doesn’'t exist that -- I’'m sorry, the inequity 5 be modified on an energy basis. Would you
6 or whatever we call it that exists under the 6 agree with that?
7 current methodology. Also restating plant to 7 MR. GRENEMAN:
8 current dollars does not give an inordinate 8 A.lthink I'dliketo pass that question on to
9 amount of O& M to new transmission facilities 9 Mr. Fagan.
10 that are applicable to, for example, Vale. 10 MR. O'BRIEN:
11 MR. O'BRIEN: 11 Q. Fair, okay. | have no further questions, Mr.
12 Q. Sowould you be concerned though rather than 12 Chair.
13 without the comprehensive analysisto makinga |13 cHAIRMAN:
14 decision right now, would you be concerned 14 Q.| think we're over to you, Mr. Johnson.
15 about any unintended effects or knock-on 15 MR. ROBERT GRENEMAN, CROSS-EXAMINATION BY THOMAS JOHNSON,
16 effects that you might want to look at thisa 16 Q.C.
17 little bit more in depth before making a 17 JOHNSON, QC:
18 change in methodology? 18 Q. Good morning, Mr. Greneman.
19 (10:15am.) 19 MR. GRENEMAN:
20 MR. GRENEMAN: 20  A. Good morning.
21 A.If you can give me an example of - 21 JOHNSON, QC:
22 MR. O'BRIEN: 22 Q. Mr. Greneman, | wish to start off in relation
23 Q.| don't have an example and I’m asking you if 23 to the issue of |oad forecast, which is still
24 you want - 24 amatter that'sleftto beresolved. Ill
25 MR. GRENEMAN: 25 just start off, | guess, with this
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1 proposition, Mr. Greneman. | take it that you 1 operations of Vale and Praxair. Are you

2 would -- can you hear me? 2 familiar with that, that that’sthe reason

3 MR. GRENEMAN: 3 thisis being driven up?

4  A.No.Verylow. | could barely hear you. 4 MR. GRENEMAN:

5 JOHNSON, Q.C.: 5 A. That's my understanding.

6 Q. Okay. | takeit, Mr. Greneman, that the rates 6 JOHNSON, Q.C.:

7 -- that you understand that the rates as 7 Q. Right. Andin 2016, Mr. Greneman, would you
8 proposed in Hydro's Amended General Rate 8 accept, subject to check because the

9 Application are expected to be in effect for 9 percentages are not here, that in 2016

10 the 2015 through 2017 time frame. 10 relativeto 2015 that the Island Industrial

11 MR. GRENEMAN: 11 Customer class energy sales are forecast to
12 A.I'll accept that. 12 increase by 25.2 percent over levels assumed
13 JOHNSON, Q.C.: 13 in the 2015 test year? Would you take that,
14 Q. And Mr. Greneman, would you agreethat the 14 subject to check?

15 rates that Hydro charges its customers must be 15 MR. GRENEMAN:

16 just and reasonable at all times, including 16  A. Subject to check, yes.

17 the 2015 to 2017 period? 17 JOHNSON, Q.C.:

18 MR. GRENEMAN: 18 Q. Okay. Andin contrast, Newfoundland Power
19  A. Reasonably just and reasonable. 19 energy sales are forecast to increase by only
20 JOHNSON, Q.C.: 20 2.06 percent from’15 to ' 16. Would you again
21  Q.Okay. Now I'dlike to just bring your 21 accept that, subject to check?
22 attention, if | could, to the table at CA-NLH- 22 MR. GRENEMAN:
23 304, and particularly this purports, Mr. 23 A.Yes.
24 Greneman, to show the load increases relative 24 JOHNSON, Q.C.:
25 to 2015 over 2016 and 2017. I'll just give 25 Q.Okay. And we see, again, a dight decrease

Page 54 Page 56

1 you a second to familiarize yourself with the 1 for the Rural Customer class energy sales, but
2 table. 2 I’m-- we've calculated that it'sabout a

3 MR. GRENEMAN: 3 decrease of .6 percent for the Rura

4 A Yes 4 Customers, okay?

5 JOHNSON, Q.C.: 5 MR. GRENEMAN:

6 Q. Okay. 6 A.Yes

7 MR. GRENEMAN: 7 JOHNSON, Q.C.:

8 A. Thesearethe energy? 8 Q.Andthen if welook at 2017, Mr. Greneman,
9 JOHNSON, Q.C.: 9 would you accept again, subject to check, that
10 Q. Yes, thisisenergy. 10 thelsland Industrial Customer class energy
11 MR. GRENEMAN: 11 sales are forecast to increase by 40.6 percent
12 A.Thisisenergy, yes. 12 over levels assumed in the 2015 test year?

13 JOHNSON, Q.C.: 13 MR. GRENEMAN:

14 Q. It'senergy, yeah. Now Mr. Greneman, asyou 14 A. Over 2015 did you say?

15 can seg, the Idland Industrial Customer class 15 JOHNSON, Q.C.:

16 load increases fairly dramatically in 2016 and 16 Q. Yes dr, yes.

17 2017 over the level seen in the 2015 test year 17 MR. GRENEMAN:

18 cost of service study. Would you agree with 18  A. Or over 20167

19 that? 19 JOHNSON, Q.C.:

20 MR. GRENEMAN: 20 Q. Over 2015.

21 A.Yes. 21 MR. GRENEMAN:

22 JOHNSON, Q.C.: 22 A. Subject to check.

23 Q.Andyouwould beaware, | think -- 1'll ask 23 JOHNSON, Q.C.:

24 you if you're aware that this dramatic 24 Q.Yeah. Looks like it, okay. And again,

25 increase is driven by the ramping up of 25 relative to 2015 to 2017, Newfoundland Power’s
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1 energy sales are forecast to increase only 2.2 1 asyou suggested, and NPgrows as suggested
2 percent over 2015-2017. Would you again 2 and Rural declines, as you suggested, that if
3 accept that? 3 the demand rates were recalculated each year
4 MR. GRENEMAN: 4 2016 and 2017, therewould only be aminor
5 A.Yes, subject to check. 5 difference in the per unit rate.
6 JOHNSON, Q.C.: 6 JOHNSON, Q.C.:
7 Q. Okay. SoMr. Greneman, would you agree that 7 Q. So, would you nonetheless accept that Hydro is
8 the loads included in the 2015 test year cost 8 filing a 2015 cost of servicestudy with a
9 of servicestudy do not reflect the load 9 forecast that could be considered astilted in
10 forecast during the period that rates are 10 favour of the Island customers, Island
11 expected to be in effect here? 11 Industrial Customers, becauseit’'s ignoring
12 MR. GRENEMAN: 12 the ramping up of the load?
13 A. Not necessarily on an absolute basis, but the 13 MR. GRENEMAN:
14 load factor isreflective, as| understand it, 14 A.I’'m sorry, can you say that again?
15 asit would be in future years. 15 JOHNSON, Q.C.:
16 JOHNSON, Q.C.: 16 Q. Would you accept that the use of the load as
17 Q. Could you explain? 17 for the Industrial Customers, for instance, in
18 MR. GRENEMAN: 18 2015 over thenext two years resultsin a
19 A.lthink that the load factor of Industrial 19 tilting in the favour of the Island Industrial
20 Customersand of Vale isappropriate-- is 20 Customers because we'reignoring the ramping
21 reasonable, that isto say, it would be 21 up of the load?
22 reflective of what it might bein 2016 and 22 MR. GRENEMAN:
23 2017. 23 A.I'mnot sure of that. When load ramps up, it
24 JOHNSON, Q.C.: 24 drives up Holyrood fuel costs, which is shared
25 Q. Wadll, the-- would | berightin putting to 25 among all classes on load variation on energy
Page 58 Page 60
1 you the question that Hydro knows now that the 1 basis, which is consistent with the cost of
2 loads used in the 2015 cost of service study 2 service. So thenicwould get ahigher fuel
3 do not reflect the loadsthat are expected 3 cost alocation than they would in the test
4 during the period up ’til the next GRA? 4 year.
5 Because we see aramping up in 2016 and 2017 5 JOHNSON, Q.C.:
6 relative to 2015. 6 Q.So if we-- instead of alocating costs
7 MR. GRENEMAN: 7 amongst customersusing the 2015 forecast
8 A.Yes, and as load grows for Industrial 8 load, if we used an average of the customer
9 Customers in 2016 and 2017, so will the 9 class |oads over the 2015 to 2017 time frame,
10 revenues grow. 10 would that mean that the Industrial Customers
11 JOHNSON, Q.C.: 1 would be dlocated more of the revenue
12 Q. Right, okay. 12 requirement in the cost of service study?
13 MR. GRENEMAN: 13 MR. GRENEMAN:
14 A. Sotherewill be amatch in that regard. 14 A. | think there would be just a minor change.
15 JOHNSON, Q.C.: 15 JOHNSON, Q.C.:
16 Q. Okay. So, if we--if | askedif --if | can 16 Q. Butyou would expect them to be allocated
17 ask you how can ratesin 2016 and 2017 be 17 more? Would that be correct?
18 considered just and reasonable when Hydro 18 MR. GRENEMAN:
19 knows now that they are not reflective of the 19  A.Inthe cost of service studies?
20 period when the rates are expectedto bein 20 JOHNSON, Q.C.:
21 effect? 21 Q. Right.
22 MR. GRENEMAN: 22 MR. GRENEMAN:
23  A. My understanding is that Hydro had done rough 23 A.If the cost of service study were redone?
24 calculation, apreliminary calculation which 24 JOHNSON, Q.C.:
25 shows that even though Industrial load grows, 25 Q.Yes. I'm askingyou if we, instead of
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1 allocating costs using the 2015 forecast load, 1 2014 report? Andin particular, if we could

2 we use an average of the2015to 2017 time 2 bring up page three? Okay. Page three,

3 frame, would the Ics be allocated more of the 3 paragraph 1.4. Paragraph 1.4 reads "the cost

4 revenue requirement than we're seeing 4 of service is heavily skewed by the

5 presently? 5 representation of the transitional Industrial

6 MR. GRENEMAN: 6 Customers, Valeand Praxair, who are not in

7 A.Onademand basis, | would say alittle bit, 7 similar circumstances to the IC group members.

8 perhaps a little bit more, but on aall-in 8 Outside of the fact that these customers are

9 basis, demand, energy, changing -- if one had 9 in commissioning phases, not operations, these
10 to change capacity factors, system load 10 customers have two defining features that are
11 factors, I’ m not sure how it would run out. 11 unique. One, their annual loads are not at a
12 JOHNSON, Q.C.: 12 high load -- are not at high load factors, and
13 Q. Mr. Greneman, isn’t it possibleto modify 13 two, the customers have unique contractua
14 alocators used in the 2015 test year to make 14 provisions approved by the PUB with regard to
15 them more consistent with the forecast loads 15 the demand charges during their commissioning
16 that’ll bein place from 2015 to 2017? Can't 16 phases. To properly reflect thisin the cost
17 that bedone, you know, without adjusting 17 of service in amanner that does not entirely
18 other aspects of the cost of service study? 18 neuter the Board' s decisions regarding demand
19 MR. GRENEMAN: 19 charges during the commissioning phases, the
20 A.ldon'tthink it would bereadlistic or fair to 20 cost of service should be adjusted to
21 only adjust one variable. Holyrood fuel costs 21 normalize their annual loads along the lines
22 would change. The capacity factor of Holyrood 22 shown in the response to IC-NLH-140." That's
23 would change. System load factor would 23 what | was referringto. So canyou now
24 change. And then wewould haveto adjust NP 24 recall that?
25 and Rural aswell. Isthat correct? 25 MR. GRENEMAN:

Page 62 Page 64

1 JOHNSON, Q.C.: 1 A.lsthisMr. Bowman'sorigina?

2 Q. Wadll, soyou're suggesting that it would not 2 JOHNSON, Q.C.:

3 be possible to make a different allocation? 3 Q.ltis

4 We're not talking about changing revenue 4 MR. GRENEMAN:

5 requirement. We're talking about just 5 A.Wédl, | understand that he reversed it in his

6 changing an alocation here, right? 6 second.

7 MR. GRENEMAN: 7 JOHNSON, Q.C.:

8 A.lunderstand, but I'm not surethat it would 8 Q. Yes, and what I'm getting to is to the point,

9 be appropriate to only change one variable in 9 Mr. Greneman, that would it be a fair
10 the cost of service study. 10 characterization to say that Mr. Bowman was,
11 JOHNSON, Q.C.: 11 similar to us, what we' re seeking now, seeking
12 Q. Doyou recal the evidence of the Industrial 12 some normalization of loads as they were going
13 Customers’ expert witness, Mr. Patrick Bowman, 13 to be happening and as the Industrial
14 from hisorigina evidence filedin April 14 Customers are moving out of thistransitional
15 2014? Doyou recal what he-- him being 15 phase or at least certain of them? Aren’'t we
16 concerned in his evidence about the fact that 16 both on the same theme?
17 loads inthe then 2013 test year did not 17 MR. GRENEMAN:
18 reflect the higher typical load factor of the 18  A.lI'm not sure that we are because -- that isto
19 Industrial Customer class? Do you recall his 19 say, I’m not sure that Mr. Bowman and you are
20 report in that regard? 20 on the same page because my recollection,
21 MR. GRENEMAN: 21 subject to check, is if youlook at Mr.
22 A. 1 would need to be directed to that. 22 Bowman's second evidence submission that he
23 (10:30 am.) 23 doesn’t think there’ s an issue.
24 JOHNSON, Q.C:: 24 JOHNSON, Q.C.:
25 Q. Okay. If we could bring up Mr. Bowman's April 25 Q. Yes but what I’'m talking about now --1'm
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1 fully aware that Mr. Bowman hasfiled -- Mr. 1 redo the cost of service study to reflect the
2 Patrick Bowman has filed other evidence. 2 loads that you suggest for Vale and Praxair
3 MR. GRENEMAN: 3 that it would not be asimple matter to do
4 A Yes 4 such -- it wouldn’t be a simple matter to do a
5 JOHNSON, Q.C.: 5 shortcut method. | mean, | don't think a
6 Q. What I’'m comparing to iswhat he was saying in 6 shortcut method would be appropriate. | think
7 April 2014 to what the Consumer Advocate is 7 it would involve redoing the entire cost of
8 saying now asregardsto trying to normalize 8 service study and | think if that were done
9 the load. 9 that there would be avery, very small, if not
10 MR. GRENEMAN: 10 negligible, difference.
11 A. My understanding is that what Mr. Bowmanwas |11 JOHNSON, Q.C.:
12 discussing here, this passage, related to the 12 Q. Okay. Andhave youseen andreviewed any
13 fact that there was not a January peak which 13 analysis from Hydro as to what the difference
14 caused an issue, which is not the same 14 would bein relation to demand and energy?
15 situation that isin Hydro’ s filing. 15 MR. GRENEMAN:
16 JOHNSON, Q.C.: 16 A.l believe that Hydro prepared, I'll say, a
17 Q. Waéll, could | turn you to an annunciation by 17 rough estimate of what the difference might be
18 Mr. Patrick Bowman at page 29, an annunciation |18 and | would need to confirm that with Hydro.
19 of Mr. Bowman asto what he regards as one of 19 I don’'t know if I'm speaking accurately or
20 the underlying principles behind cost of 20 not.
21 service analysis? Page 29 and bring you to 21 JOHNSON, Q.C.:
22 linesthree to six. Mr. Greneman, inthis 22 Q. Okay.
23 passage Mr. Patrick Bowman says"one of the 23 MR. GRENEMAN:
24 underlying principles behind cost of service 24 A.Butl thinkit's their estimation that the
25 analysisisthat itisnever a precisetool 25 differences would be small.
Page 66 Page 68
1 for cost allocation. However, the anaysis 1 JOHNSON, Q.C.:
2 should reflect fair and reasonable estimation 2 Q. Okay. Andperhapswe could ask -- because
3 of the cost responsibility between customer 3 this will come up, no doubt, in the
4 classes for the periods in which the study is 4 examination of Mr. Fagan aswell, if we could
5 being applied.” Okay. 5 ask for an undertaking from Hydro to provide
6 Would you agree with Mr. Bowman’'s 6 itsanalysisin relation to that issue.
7 statement that this is indeed one of the 7 MR. YOUNG:
8 underlying principles behind cost of service 8 Q. Mr. Chair, | can check intothat. We'reina
9 analysis? 9 little bit of a spot here because, as the
10 MR. GRENEMAN: 10 witness hasjust indicated, he'snot certain
11 A.Ingenerd, yes. 11 of itsexistence. He believesthat it exists
12 JOHNSON, Q.C.: 12 and I’'m even less certain than Mr. Greneman.
13 Q. Okay. So giventhat this is indeed an 13 So | will look into that, yes.
14 accepted principle by Mr. Bowman, by yourself, |14 MS. GLYNN:
15 do you believe that Hydro' s 2015 test year 15 Q. Noted on the record.
16 loads, without modification, truly reflect a 16 JOHNSON, Q.C.:
17 fair and reasonable estimation of the cost 17 Q. Thank you. If I could direct your attention,
18 responsibility for energy and demand between 18 Mr. Greneman, to IC-NLH-140?
19 customer groups for the period in which 19 MS. GRAY:
20 Hydro's cost of service study will be applied? 20 Q. Revision 1, Mr. Johnson?
21 MR. GRENEMAN: 21 JOHNSON, Q.C.:
22 A.Theprojected loads for Valeand Praxair, | 22  Q.I'msorry?
23 would suggest are not known with any certainty 23 MS. GRAY:
24 and there is perhaps some speculation in that. 24 Q. Revison1?
25 What | am suggesting isthat if one wereto 25 JOHNSON, Q.C.:
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1 Q. No, the first one, 140. InthisrFl, Mr. 1 the determination of the overall revenue
2 Greneman, and thistiesinto what Mr. Patrick 2 requirement?
3 Bowman had been stating in his original 3 MR. GRENEMAN:
4 evidence that we referred to a moment ago, the 4  A.l donot know.
5 Industrial Customers asked Hydro to provide a 5 JOHNSON, Q.C.:
6 revised cost of service study that maintains 6 Q. You donot know, okay. If I could, Mr.
7 the Vale and Praxair annual energy, but 7 Greneman, perhaps try to make an illustration
8 normalizes the monthly peaksto reflect the 8 of what we'redriving at, in termsof why
9 peak power on order level consistent with 2013 9 changing an allocator is not necessarily the
10 annual energy, more representative of ahigh 10 end of the world as we seeit, okay, and I'll
11 load factor Industrial Customer. And then we 11 do it by bringing you to an illustration by a
12 note that Hydro refersto an attachment for 12 discussion of a now settled item, being the
13 the cost of service study and Hydro saysin 13 Holyrood capacity factor, for illustrative
14 the answer "based on the 2013 test year annual 14 purposes only.
15 energy requirements for these two customers 15 Y ou would be aware, Mr. Greneman, that in
16 and ignoring the monthly energy profile, a 16 determining the capacity factor for Holyrood,
17 "normalized’” peak requirement for these 17 the Board's approved cost of service
18 customers would be 4.9 megawatts compared with 18 methodology calls for the use of a historical
19 the 19.6 megawatts used inthe 2013 test 19 five-year period, right?
20 year." 20 MR. GRENEMAN:
21 Do you know or can you tell us, Mr. 21 A.Yes
22 Greneman, how Hydro went about normalizing the 22 JOHNSON, Q.C.:
23 peak in response to this RFl from the 23 Q. Okay. And essentially, we take the average of
24 Industrial Customers? And canyoutell us 24 the annual Holyrood capacity factor over the
25 what the impact of that normalizing exercise 25 five-year period. Now Mr. Greneman, you'll be
Page 70 Page 72
1 was that the Industrials and Vale wished to 1 aware that in this instance that would result
2 have? 2 inaHolyrood capacity factor of 24 percent
3 MR. GRENEMAN: 3 being usedin the cost of service study,
4 A.ldonot--1am not familiar enough to speak 4 right?
5 on that. 5 MR. GRENEMAN:
6 JOHNSON, Q.C.: 6 A.l believel recall that number, yes.
7 Q.1 guess, Mr. Greneman, we would know however 7 JOHNSON, Q.C.:
8 that the result of that exercise would have 8 Q. Okay. But weall know aswe sit in thisroom
9 resulted in less cost being alocated to the 9 that Holyrood is forecast to operateat a
10 Industrial Customers than to Newfoundland 10 significantly higher capacity factor in 2015
11 Power and the Island Rural Customers, correct? 11 andin-- thanin 2015 itself actually. We
12 MR. GRENEMAN: 12 know that for afact, right?
13 A. | will accept that, subject to check. 13 MR. GRENEMAN:
14 JOHNSON, Q.C.: 14 A. That ismy understanding, yes.
15 Q. Yes okay. Now by Hydro-- and Mr. Bowman 15 JOHNSON, Q.C.:
16 will -- my witness, Mr. Douglas Bowman, will 16 Q. So, infact, the capacity factor that we
17 testify to these matters aswell. But by 17 expect for 2015 is actually 39 percent. Would
18 Hydro changing the cost allocation, it did not 18 you take that, subject to check?
19 require any changesinthe determination of 19 MR. GRENEMAN:
20 the revenue requirement, did it? 20 A.l would need to check it.
21 MR. GRENEMAN: 21 JOHNSON, Q.C.:
22 A. Canyou repeat that question? 22 Q.Okay. If wecould bringup Table 4.4 of the
23 JOHNSON, Q.C.: 23 Amended GRA for amoment? So this isfrom
24 Q. By Hydro changing the cost alocation, are you 24 Table 4.4 of Hydro's evidence and it purports
25 awarethat it didn’t requireany changesin 25 to show the Holyrood capacity factorsin this
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1 table from 2001 to forecast year 2017. Okay? 1 JOHNSON, Q.C.:
2 MR. GRENEMAN: 2 Q. Right. Isenergy an allocator?
3 A Yes 3 (10:45am.)
4 JOHNSON, Q.C.: 4 MR. GRENEMAN:
5 Q. Okay. So,you'll seethat 2015, the capacity 5 A Sorry?
6 factor that’ s forecast is 39 percent, right? 6 JOHNSON, Q.C.:
7 MR. GRENEMAN: 7 Q. lsenergy an adlocator aswell?
8 A.Yes 8 MR. GRENEMAN:
9 JOHNSON, Q.C.: 9 A.Yes
10 Q. Okay. Andin 2016, it'sforecastto be 45 10 JOHNSON, Q.C.:
11 percent. So, would you agree, Mr. Greneman, 11 Q. Yeah. Soif there were asingle customer on
12 that the useof the 24 percent Holyrood 12 the Island Interconnected System, i.e. let’s
13 capacity factor, asper the Board's approved 13 assume only Newfoundland Power wason the
14 cost of service methodology, doesn't have 14 Island Interconnected System, would you agree
15 anything to do with the determination of the 15 that there would be no need to come up with
16 revenue requirement per se? 16 any of the allocators because the total
17 MR. GRENEMAN: 17 revenue requirement would be paid by
18  A. Agreed. 18 Newfoundland Power? Would that be right?
19 JOHNSON, Q.C.: 19 MR. GRENEMAN:
20 Q.Agreed. It only has todo with how that 20 A.Inthat hypothetical example.
21 revenue requirement is allocated amongst the 21 JOHNSON, Q.C.:
22 customer classes, right? 22 Q. Yeah, exactly.
23 MR. GRENEMAN: 23 MR. GRENEMAN:
24 A.No, it hasto do with theway it's classified 24  A. Exceptinsofar asit may affect allocations
25 first, and then subsequently allocated. 25 between systems, among systems.
Page 74 Page 76
1 JOHNSON, Q.C:: 1 JOHNSON, Q.C.:
2 Q. Right, okay. So adistinction without a 2 Q. Okay, al right. But, sothis--1 guessl|
3 difference, | guess, frommy -- in terms of 3 put to you, Mr. Greneman, that we don't really
4 where I’'m coming from. So Mr. Greneman, if we 4 haveto go into the cost of service study to
5 decided to change the Holyrood capacity factor 5 change production costsif we change the
6 in the test year from 24 percent to 50 percent 6 Holyrood capacity factor to be used for
7 for alocation purposes, we agree that this 7 allocation purposes, correct?
8 would not impact the overal revenue 8 MR. GRENEMAN:
9 requirement? 9 A For the Holyrood capacity factor, that’'s
10 MR. GRENEMAN: 10 correct.
11 A.Agreed. 11 JOHNSON, Q.C.:
12 JOHNSON, Q.C.: 12 Q. That’scorrect, okay. | just want toturnto
13 Q. Okay. And Mr. Greneman, would you agree that 13 specifically assigned O& M for amoment. Could
14 there are anumber of such allocatorsin the 14 you explain -- and thisis-- | don’t know if
15 cost of service study that do notin fact 15 it's as bad as depreciation, but you can see
16 change the revenue requirement calculation 16 it from there, | suppose. Could you explain
17 itself? 17 how Hydro currently goesabout calculating
18 MR. GRENEMAN: 18 specifically assigned O&M?
19 A.Yes 19 MR. GRENEMAN:
20 JOHNSON, Q.C:: 20 A.lamonly going to do that at ahigh level and
21 Q. For instance, the use of coincident or 21 asfar astheintricacies are concerned, and
22 coincident peak is an allocator? 22 subject to correction by Mr. Fagan when he
23 MR. GRENEMAN: 23 getson, gross plant is -- original cost gross
24 A. Except to the extent that if load increases, 24 plant is functionalized and assigned,
25 fuel increases. 25 specificaly assigned to customers and
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1 operation and maintenance expenses, and | will 1 methodology such asis proposed by Mr. Dean?
2 say including administrative and genera -- a 2 MR. GRENEMAN:
3 lot of what | say needsto be confirmed asto 3 A.Notdirectly. This question was posed earlier
4 the exact procedure and what’ s included by Mr. 4 tome. | have afeeling that in afair value
5 Fagan -- are apportioned on original cost 5 jurisdiction, of which there are maybe one or
6 gross plant. 6 two in the United States, to the extent that
7 JOHNSON, Q.C.: 7 plant and serviceis restated to current
8 Q. Okay. And ]I takeit that this methodology is 8 dollars that there might be an apportionment
9 generally consistent with practice el sewhere? 9 of O&M on that basis. | don't know at the
10 MR. GRENEMAN: 10 moment. | do believe that where a situation
11 A Yes 11 may exist where using this methodology results
12 JOHNSON, Q.C.: 12 ina very high, inordinately high O&M to a
13 Q. Okay. And asyou understand it, what method 13 particular function or customer, that O&M
14 is being proposed by the witness for Vale, Mr. 14 could be handled by separate agreement or some
15 Mel Dean, for how this is supposed to be 15 other means, as opposed to apportioning it on
16 determined? 16 gross plant.
17 MR. GRENEMAN: 17 JOHNSON, Q.C.:
18  A. Méel Dean brings up the area of time value of 18 Q. Thesefair value states, you say there'slike
19 money and he says that -- and this is 19 acouple or two or three in the United States?
20 paraphrasing, of course -- that newer 20 MR. GRENEMAN:
21 facilities cost a lot more than older 21 A.Indianaisone currently.
22 facilities, transmission plant, and by virtue 22 JOHNSON, Q.C.:
23 of that higher cost attracts much higher 23 Q. Right.
24 operation and maintenance and administrative 24 MR. GRENEMAN:
25 and general expenses, and by virtue of the 25  A. Pennsylvania used to be one. I'm not sure if
Page 78 Page 80
1 particularly high transmission investment, the 1 they till are. And | thought that New Mexico
2 apportionment of O&M and A&G resultsin an 2 or one of those southwestern states may have
3 inordinate amount to Vale. 3 been one.
4 JOHNSON, Q.C.: 4 JOHNSON, Q.C.:
5 Q.Okay. Sothat’sinanutshell that - 5 Q. Soisthis asituation where the regulatory
6 MR. GRENEMAN: 6 schemes statute says inthis jurisdiction,
7  A.Pardon? 7 we're afair value jurisdiction, as opposed to
8 JOHNSON, Q.C.: 8 -- isthat how it works?
9 Q. That'sin anutshell andat afairly high 9 MR. GRENEMAN:
10 level and that’swhat | was really seeking to 10 A.Yes. Inlindiana, for example, which| am
11 ask you. 11 somewhat familiar with, you can restate rate
12 MR. GRENEMAN: 12 base on, for example, current market value or
13 A.I'msorry? 13 I'll say trended cogt, that isto say cost
14 JOHNSON, Q.C.: 14 indexed up to current or some combination of
15 Q.No,I'm- 15 thetwo, or you can actually comein with
16 MR. GRENEMAN: 16 original cost. But the Indiana Utility
17 A.l don't know if it's me or what. 17 Regulatory Commission will consider fair value
18 JOHNSON, Q.C.: 18 if the utility presentsit.
19 Q. I'mterribly sorry. If that wasa little 19 JOHNSON, Q.C.:
20 longer, it'd be all right. But no, | guess, 20 Q. But therest of the 47 States, | take it from
21 Mr. Greneman, |I’m content with your answer. 21 your answer, you wouldn't -
22 It wasat a highlevel and just for the 22 MR. GRENEMAN:
23 understanding of it. 23 A.49.
24 And again, | takeit that you're, again, 24 JOHNSON, Q.C.:
25 not aware of any jurisdiction that uses a 25 Q. No, | know, | meant-- no, no,| wasaware
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1 that there was 50, but the three and the 47, 1 JOHNSON, Q.C.:
2 but the other - 2 Q. Yes You heardthe part about Mr. Henderson
3 MR. GRENEMAN: 3 testifying to it, | hope?
4  A. Minusthose, yes. 4 MR. GRENEMAN:
5 JOHNSON, Q.C.: 5 A.lwasn't present, but I've heard you say that,
6 Q. Sotheother 47, youwouldn't expect if you 6 yes.
7 were -- you wouldn’t expect to be bringing 7 JOHNSON, Q.C.:
8 forward that type of analysis into the other 8 Q. Yes, okay. Sohe'stestified that the bathtub
9 47 States, | take it? 9 curve, it's basically aphenomenon whereby
10 MR. GRENEMAN: 10 facilitiesin their early years, they tend to
11 A. No, that’s correct. 11 be lessreliable, then they tend to be -
12 JOHNSON, Q.C.: 12 MR. GRENEMAN:
13 Q. Right, okay. And Mr. Greneman, areyou aware |13 A.Didyousay -- I'msorry tointerrupt. Did
14 as to whether Hydro has undertaken any studies 14 you say lessreliable?
15 to compare the O&M costs of facilities that 15 JOHNSON, Q.C.:
16 are say from oneto five years of ageto the 16 Q. That'sright.
17 O&M costsfor facilitiesthat are say five to 17 MR. GRENEMAN:
18 tenyearsof ageor 15 to 20 years of age? 18 A. Analogous to ahigh mortality curve, for
19 Any work like that been done to your 19 example?
20 knowledge? 20 JOHNSON, Q.C.:
21 MR. GRENEMAN: 21 Q.| suppose, yeah. When they’re new, | guess
22 A.My understanding is that Hydro has made 22 there’ sbugs towork out and then after a
23 effortsin that direction, but with respect to 23 while, you know, the bathtub, along the bottom
24 how they were done, | would defer to Mr. 24 of the bathtub say, she’s pretty flat and then
25 Fagan. 25 towards the end of -- as the asset ages, you
Page 82 Page 84
1 JOHNSON, Q.C.: 1 come up the other side of the bathtub and you
2 Q. Right, okay. Mr. Greneman, the Vice-President 2 got more issues.
3 of Hydro testified in this proceeding, Mr. 3 CHAIRMAN:
4 Henderson, and he testified that there is such 4 Q. lt'slikelife.
5 thing as a bathtub curve where facilitiesin 5 JOHNSON, Q.C.:
6 their early years-- and I’'m paraphrasing, 6 Q. That'swhat I'm talking about, okay, and given
7 okay, but they tend to be a bit lessreliable 7 what we've heard about this phenomenon, would
8 and then they tend to be more reliable during 8 you expect, Mr. Greneman, that during the
9 the middle yearsand then they become less 9 early years, infactthe O&M costs for new
10 reliablein later years. | take ityou're 10 facilities might be higher than during the
11 familiar with that bathtub? 11 middle years of the lives of these facilities?
12 MR. GRENEMAN: 12 MR. GRENEMAN:
13 A.lI'’veheard thetermand | had meant to ask 13 A.l cannot say for afact. What| cansayis
14 about it, but | didn't. 14 that I’'m familiar with mortality curves, the
15 JOHNSON, Q.C.: 15 I/O curves and I'm familiar with mass accounts
16 Q. Okay. 16 and I'm familiar with the high mortality in
17 MR. GRENEMAN: 17 dealing with mass accounts such as meters and
18  A.I'veheard the term. 18 so on. As it pertains to a single
19 JOHNSON, Q.C.: 19 transmission line, | would have to -- I'm not
20 Q. Allright. Given --let ussay that this 20 sureif it would agree with Mr. Henderson. Is
21 phenomenon is reliable out there, okay, and 21 he speaking specifically about that, asingle
22 it'swell accepted and - 22 transmission line?
23 MR. GRENEMAN: 23 JOHNSON, Q.C.:
24  A.Canyou just repeat the bathtub curve part 24 Q.No, Mr. Henderson was speaking about the
25 again? 25 principle of the bathtub curve.

Discoveries Unlimited Inc., Ph: (709) 437-5028

Page 81 - Page 84




September 28, 2015 Multi-Page™ NL Hydro GRA

Page 85 Page 87
1 MR. GRENEMAN: 1 JOHNSON, Q.C.:
2 A.l'dsay-- 1 wouldsay | could agreewith it 2 Q. Okay.
3 in restricted circumstances because it's 3 MR. GRENEMAN:
4 somewhat reflective of a mortality curve. 4  A. Thank you.
5 JOHNSON, Q.C.: 5 JOHNSON, Q.C.:
6 Q. Mr. Chairman, we're handy to 11, if we could 6 Q. Mr. Fagan can speak to this, | take it?
7 break now? 7 MR. GRENEMAN:
8 CHAIRMAN: 8 A.Pardon?
9 Q. Sure, thank you. 9 JOHNSON, Q.C.:
10 (BREAK - 10:58 am.) 10 Q. Heshould be ableto speak to that?
11 (RESUME - 11:38a.m.) 11 MR. GRENEMAN:
12 CHAIRMAN: 12 A Yes
13 Q. | understand before we recommence or with the 13 JOHNSON, Q.C.:
14 -- Mr. Young, you have amatter you wish to 14 Q. Thank you. Just finally then, on the topic of
15 address? 15 the rural deficit, you've indicated, | think
16 MR. YOUNG: 16 it'sa fair characterization, Mr. Greneman,
17 Q. Ms. Pennell will addressit. 17 that giventhat the rural deficit is not
18 CHAIRMAN: 18 associated with the cost to supply the
19 Q. Or Ms. Penndll. 19 customerswho are requiredto pay for the
20 MR. YOUNG: 20 deficit that you believe that fairness becomes
21 Q. Yes, thank you. 21 the primary criteria for allocating the
22 MS. PENNELL: 22 deficit. Would that be correct?
23 Q. Thank you, Mr. Chair. In light of the 23 MR. GRENEMAN:
24 settlement, our conversations with the 24 A.Yes
25 Consumer Advocate indicated that Undertaking 25 JOHNSON, Q.C.:
Page 86 Page 88
1 No. 39 can now be withdrawn. 1 Q. AndisMr. Brockman the only expert in this
2 CHAIRMAN: 2 proceeding who does not find Hydro' s proposal
3 Q. Soweareback toyou, sir, | think. 3 to be fair?
4 JOHNSON, Q.C.: 4 MR. GRENEMAN:
5 Q. Yes, thank you, Mr. Chairman. Two topics |eft 5 A. That is my understanding.
6 and they’ll be pretty brief. Thefirst topic 6 JOHNSON, Q.C.:
7 has to dowith cost associated with the 7 Q. Andare you aware, Mr. Greneman, that the
8 purchasers from the Corner Brook co-generator 8 Board switness, Dr. Wilson, also supported
9 facility. Just a brief question on that 9 the allocation methodology as proposed by
10 actually, Mr. Greneman. | take it these costs 10 Hydro in response to an RFI from the Consumer
11 associated with the purchases from the co- 11 Advocate?
12 generation facility areincluded in the cost 12 MR. GRENEMAN:
13 of service study? 13 A. Subject to check, | believe so.
14 MR. GRENEMAN: 14 JOHNSON, Q.C.:
15  A. Canyou repeat the last part of the sentence? 15 Q. Yes, and justit’'s CA-PUB-001, if we could
16 JOHNSON, Q.C.: 16 bring that up? Thereitis.
17 Q.| understand that these costs arein fact 17 MR. GRENEMAN:
18 included in the cost of service study? 18 A.Yes.
19 MR. GRENEMAN: 19 JOHNSON, Q.C.:
20  A. | understand they are. 20 Q. Thank you. Mr. Greneman, | takeit you also
21 JOHNSON, Q.C.: 21 would agree that the rural deficit allocation
22 Q. Okay. Canyou just explain, Mr. Greneman, how 22 issue can and should be dealt with at this
23 these costs are allocated to customers? 23 hearing?
24 MR. GRENEMAN: 24 MR. GRENEMAN:
25  A. Canl defer thisto Mr. Fagan? 25 A.ldo.
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1 JOHNSON, Q.C.: 1 methodology which would result in Labrador
2  Q And areyou awareas well, s, that Dr. 2 Interconnected customers paying 142 percent of
3 Wilson stated that this issue can be 3 costs results in aless efficient price signal
4 adequately dealt with at this hearing? 4 than the proposed methodol ogy which resultsin
5 MR. GRENEMAN: 5 both Labrador Interconnected and Newfoundland
6 A.l believe so. 6 Power customers paying 113 percent of costs?
7 JOHNSON, Q.C.: 7 MR. GRENEMAN:
8 Q. Yeah,just for therecord, it's CA-PUB-003. | 8 A.lwholly agree.
9 won't take you there. In fact, Mr. Greneman, 9 JOHNSON, Q.C.:
10 doesn’'t the Board really haveto deal with 10 Q. Andcould you explain why you would wholly
11 thisissuein this hearing in the sense that 11 agree?
12 if it doesn’'t approve Hydro's proposed 12 (11:45am.)
13 alocation methodology, it will need to 13 MR. GRENEMAN:
14 address the issue of the proposed 27.8 percent 14  A. Because the current methodology, to the extent
15 rate increase for the Labrador Interconnected 15 that it -- it presents a skewed price signal
16 Rural Customers? Isthat right? 16 to Labrador customersand a different price
17 MR. GRENEMAN: 17 signal tolsland Interconnected customers.
18  A. Canyou repeat that question, please? 18 Therevenue alocation methodismore, ina
19 JOHNSON, Q.C.: 19 sense, aneutral price signal to both.
20 Q.Infact, what | asked you, Mr. Greneman, was 20 JOHNSON, Q.C.:
21 asapractical matter, doesn't the Board have 21 Q.Andwhat makesthe price signal skewed and
22 to deal with thisissuein thishearing in the 22 what’ s the problem with there being a skewed
23 sensethat if it does not approve Hydro's 23 price signal?
24 proposed all ocation methodology, it will need 24 MR. GRENEMAN:
25 to address the issue of the proposed 27.8 25 A. Thefact that it isan overhead, if you will,
Page 90 Page 92
1 percent rate increase for the Labrador 1 on Labrador Interconnected customershas a
2 Interconnected customers? 2 component of cost, that istosay therural
3 MR. GRENEMAN: 3 deficit, which is not reflective of Labrador’s
4 A.l bdieveso. 4 internal cost, and that makes it skewed.
5 JOHNSON, Q.C.: 5 JOHNSON, Q.C.:
6 Q. Finalyon-- | won'tsayfinaly. It'sso 6 Q. And what makes it aless efficient price
7 final. Istherea cost of service or rate 7 signal?
8 design element associated with the rura 8 MR. GRENEMAN:
9 deficit allocation other than fairness? 9 A.It'snot representative.
10 MR. GRENEMAN: 10 JOHNSON, Q.C.:
11 A. Not per se. 11 Q. Of the costs?
12 JOHNSON, Q.C.: 12 MR. GRENEMAN:
13 Q. Would it be fair to say that the current 13 A. Of the cost to serve Labrador.
14 methodology which would result in Labrador 14 JOHNSON, Q.C.:
15 Interconnected customers paying 142 percent of 15 Q. Okay.
16 costsresultsin aless efficient price signal 16 MR. GRENEMAN:
17 than the proposed methodol ogy which resultsin 17 A. Thereisacomponent that is not reflective of
18 both Labrador Interconnected and Newfoundland |18 the cost to serve Labrador customers.
19 Power customers paying 113 percent of costs? 19 JOHNSON, Q.C.:
20 Would you comment on that? 20 Q. Just generally, Mr. Greneman, this is a
21 MR. GRENEMAN: 21 question that | put to Mr. Henderson when he
22 A. | heard the question, | just need you to say 22 was testifying and the question is: doesthe
23 it onemoretimeso | can - 23 rural deficit result inratesthat arejust
24 JOHNSON, Q.C.: 24 and reasonable in your view? And that gets
25 Q.Okay. Isit fairto say that the current 25 alocated to customers, whether it's 113

Page 89 - Page 92
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1 percent in the case of Newfoundland Power, 142 1 A Yes.

2 percent in the case of Labrador 2 JOHNSON, Q.C.:

3 Interconnected. Could you comment on - 3 Q.Could | get you to comment on the

4 MR. GRENEMAN: 4 reasonableness and justness of the ratesto

5  A.Under the current methodology, | would say 5 Newfoundland Power in that scenario?

6 that it results in rates that are not 6 MR. GRENEMAN:

7 necessarily just and reasonable. 7  A.Insofar as price signal is concerned?

8 JOHNSON, Q.C.: 8 JOHNSON, Q.C.:

9 Q. Andif wethen assume the application of the 9 Q. Wadll, insofar aswhat do you think about the
10 proposed methodology so that both Idand 10 reasonableness and justness of the rate which
1 Interconnected customers and Labrador 1 is 113 percent of costs?
12 Interconnected customers are paying 113 12 MR. GRENEMAN:

13 percent of their cost, by reason of their 13 A. And may | ask if only Newfoundland Power would
14 picking up the burden of the rural deficit, 14 be the recipient of this, under this scenario?

15 would you comment on that scenario from the 15 JOHNSON, Q.C.:

16 standpoint of the rates being just and 16 Q. Yes, you can assume that.

17 reasonabl e? 17 MR. GRENEMAN:

18 MR. GRENEMAN: 18  A. The 113 percent, factor of 1.13, you will --

19 A.Canyou --1'd likethe first part of the 19 would presumably be applied to all rate
20 question, if you can rephrase, restate the 20 structure components and insofar as the
21 whole question? 21 Commission says this is what needs to be done,
22 JOHNSON, Q.C.: 22 | think it’s reasonable.
23  Q.If we look at the scenario whereby Hydro’s 23 JOHNSON, Q.C::
24 proposed allocation methodology, okay, let's 24 Q. Mr. Greneman, the rural deficit has reached an
25 assumethat it’'saccepted and let’s assume 25 amount of around 64 million dollarson an

Page 94 Page 96

1 that thenceforth Newfoundland Power customers 1 annual basis. | think that’sthe figurein

2 and Labrador Interconnected customers rates 2 2015. Isthat a figure that you're familiar

3 are 113 percent of costs, okay? 3 with?

4 MR. GRENEMAN: 4 MR. GRENEMAN:

5 A.Yes 5 A.l'veseenthat number | believe.

6 JOHNSON, Q.C.: 6 JOHNSON, Q.C.:

7 Q. Could | get you to comment on your view of the 7 Q. Okay. And would you regard the all ocation of
8 reasonableness and justness of the ratesin 8 that amount of money to customers who are not
9 that scenario? 9 causing that deficitto arise, would you

10 MR. GRENEMAN: 10 regard that asa significant burden on the

11  A.The component -- in this scenario, the 11 subsidizing customers?

12 component, the rural deficit component, isthe 12 MR. GRENEMAN:

13 same proportion in each jurisdiction and 13 A.Inrelation to what number?

14 thereforeit givesaproportionaly similar 14 JOHNSON, Q.C.:

15 price signal inrelation to the underlying 15 Q. Inrelation to 100 percent of their own costs.
16 cost to serve that are applicable to customers 16 MR. GRENEMAN:

17 in each system. 17 A. And what is the magnitude of that number?

18 JOHNSON, Q.C.: 18 JOHNSON, Q.C.:

19 Q. Letmego at it another way. Let ussay that 19 Q.It's a scenario where -- presently, for

20 the Labrador Interconnected issue is not what 20 instance, in a Newfoundland Power customer,
21 we're talking about and all we're talking 21 okay, is paying 13 percent morethan their
22 about is the scenario whereby Newfoundland 22 costs. They're paying 113 percent of costs.

23 Power customersare paying 113 percent of 23 MR. GRENEMAN:

24 costs. 24 A.ltisaburden.

25 JOHNSON, Q.C.:
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1 Q. Yeah. But youwould not regard it as being an 1 customer classes which in a sense are similar
2 unjust and unreasonabl e rate? Or | want to be 2 totherural deficit andin no jurisdiction
3 clear on what you would regard it as being. 3 that I’ve ever seen has that increment of
4 MR. GRENEMAN: 4 cross subsidy ever been identified on a
5 A.ldon't think I'm prepared to answer that 5 customer bill and nor do I think it's
6 right now. | need to get that - 6 appropriate to do so.
7 JOHNSON, Q.C.: 7 JOHNSON, Q.C.:
8 Q. You haven't thought about the question? 8 Q. Would they be situations that are truly
9 MR. GRENEMAN: 9 analogous to our rural deficit situation here
10 A.l needto giveit more thought. 10 though?
11 JOHNSON, Q.C.: 11 MR. GRENEMAN:
12 Q. You'd haveto give it more thought? 12 A.It's not 100 percent analogous, but it’'s
13 MR. GRENEMAN: 13 analogous to the extent that there s, either
14 A Yes 14 by design or not by design, in many, many
15 JOHNSON, Q.C.: 15 utilitiesin many, many jurisdictions, cross
16 Q. Mr. Greneman, do you think that the amount -- 16 subsidies that do exist andthey’'re never
17 should the amount of a customer’ s bill that is 17 highlighted on a customer hill.
18 associated withthe rural deficit subsidy 18 JOHNSON, Q.C.:
19 should beidentified on customer’s bills? 19 Q. By subsidiesin that context, are you talking
20 MR. GRENEMAN: 20 about a situation where say the genera
21 A. Not necessarily. 21 customer class might be paying at the higher
22 JOHNSON, Q.C.: 22 end of a band whereas another customer group,
23 Q. Okay. Couldyou explain? 23 say residential, might be paying at the mid or
24 MR. GRENEMAN: 24 lower part of an approved band? Isthat what
25 A.I'm justnot sure if it's an appropriate 25 you're referring to?
Page 98 Page 100
1 policy to do so. 1 MR. GRENEMAN:
2 JOHNSON, Q.C.: 2 A ltis
3 Q. What givesyou the pause? 3 JOHNSON, Q.C.:
4 MR. GRENEMAN: 4 Q. And what would make you think that that would
5 A.lt'sa --1 think it would bea sensitive 5 be analogous to asituation such as we have
6 matter to consumers. I’'m not sure that’s 6 with the rural deficit? Because that’s a cost
7 something that needs to be highlighted. 7 that these customers who are subsidizing have
8 JOHNSON, Q.C.: 8 nothing to do with.
9 Q Woulditassist -- | take it you would agree 9 MR. GRENEMAN:
10 that it would assist in the transparency of 10 A Waell,it's analogousinsofar asif general
11 the subsidy? 11 serviceis providing a subsidy to residential,
12 MR. GRENEMAN: 12 general service had nothing to do with the
13 A. | did mention that, yes. 13 shortfall of residential.
14 JOHNSON, Q.C.: 14 JOHNSON, Q.C.:
15 Q. Yes, okay. Andwhat would be the downside 15 Q. Canyou think of another jurisdiction where
16 specificaly as you would see it from having 16 the level of subsidy, the annual quantum is so
17 it on customers’ bills? 17 high relative to the numbers who are bearing
18 MR. GRENEMAN: 18 it?
19 A.I’'m sorry, the downside of what? 19 MR. GRENEMAN:
20 JOHNSON, Q.C.: 20 A.lcan. | performed acomprehensive cost of
21 Q. Of it being on customers hills, identified 21 service study for Northern Indiana Public
22 on. 22 Service Company, otherwise known as NIPSCO.
23 MR. GRENEMAN: 23 NIPSCO had arate case in 1983. Therates
24 A.If | could analogize, in many, many 24 that went into effect - as a result, went into
25 jurisdictions, there are cross subsidies among 25 effect in 1985. NIPSCO has avery, very large
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1 industrial customer base that serves the 1 jurisdictions and for certain customers.

2 Northern third of the State of Indiana. From 2 JOHNSON, Q.C.:

3 1985 until approximately 2007, NIPSCO had not 3 Q. Thank you very much, Mr. Greneman.

4 had arate case, but the industrial customers 4 MR. GRENEMAN:

5 kept pushing for lower ratesfor competitive 5  A. Thank you.

6 reasons. In 1987, therate case revenue 6 CHAIR:

7 requirement required that industrial customers 7 Q.| think you' re next, Mr. Coxworthy.

8 doubled their rates from what they were paying 8 MR. COXWORTHY:

9 prior to therate case. So | don’'t know the 9 Q. Thank you, Mr. Chair.
10 dollar amount, but it'squite alarge- it'sa 10 MR.ROBERT GRENEMAN - CROSS-EXAMINATION BY MR. PAUL
11 very large dollar amount, and interms of 11 COXWORTHY:
12 percent it far exceeds the rural deficit. The 12 MR. COXWORTHY:
13 difference was picked up primarily by 13 Q. Mr. Greneman, Paul Coxworthy, my colleague,

14 residential and commercial customer growth. 14 Dean Porter, represent the island industrial

15 JOHNSON, Q.C.: 15 customer group.

16 Q. Andinthat Indianasituation, was that the 16 MR. GRENEMAN:

17 product of any State of Indiana direction or 17 A. How do you do?

18 was that part of the rate making process? 18 MR. COXWORTHY:

19 MR. GRENEMAN: 19 Q. Thank you. Mr. Greneman, I'd like to refer
20 A.I'msorry, | didn't get thefirst part. 20 you back to some evidence you gave this
21 JOHNSON, Q.C.: 21 morning, | believe, to Mr. O'Brien, in
22 Q. Thesituation in Indianaand how the deficit 22 relation to the rural deficit allocation, not
23 would be shared, is that the product of state 23 because the industrial customers, as the
24 law inthat case, or is it a matter of 24 Consumer Advocate has just pointed out, have a
25 regulatory judgment, how the deficit got 25 direct interest, but | was interested in your

Page 102 Page 104

1 allocated? 1 listing of thefactors that would go into,

2 MR. GRENEMAN: 2 I'll use the word "reasonableness’, it may not
3 Al understand there was aphasein, in asense. 3 be theword you used, but to determine what
4 Areyou referring to at the conclusion of the 4 the reasonableness of the rura deficit

5 rate case? 5 dlocationis, and if reasonableness is not

6 JOHNSON, Q.C.: 6 theright word, you'll correct me, but the

7 Q.No, I'm referring to, as we've discussed 7 factorsthat | listed, you were asked what

8 earlier, the industrial customers, for 8 other than costs would go into assessing the
9 instance, by law are excused from the 9 reasonableness of the rural deficit

10 responsibility for contributing to the 10 alocation, and | understood your answer to be
11 subsidy, right? 11 you listed a number of factors;

12 MR. GRENEMAN: 12 understandability, administrative ease of
13 A Yes 13 application, and stahility asthe customer
14 JOHNSON, Q.C.: 14 load profiles changes and market situation
15 Q. And sowhat I'm getting at is were there State 15 changes?

16 laws of Indiana influencing how the subsidies 16 MR. GRENEMAN:

17 burden got shared, or wasit amatter of the 17  A.Yes

18 rate making application? 18 MR. COXWORTHY:

19 (12:00 p.m.) 19 Q. So I'm not inadvertently, |1 might add,
20 MR. GRENEMAN: 20 mischaracterizing your evidence?

21 A.Widll, | think, in generd, it was the ability 21 MR. GRENEMAN:

22 of which classes could absorb the difference. 22 A.lthink, in genera, that’sright.

23 Competitive reasons, competitive concerns 23 MR. COXWORTHY:

24 factors are onereason why, for example, 24 Q. Thank you, and with respect to stability asto
25 industrial rates might be lower in certain 25 customer load profiles changes and market
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1 situations, isthat afactor that’ s unique to 1 and you were directed to the rebuttal evidence
2 rural customers or would that be a concern for 2 that | believe wasfiled on May 30th, 2014.
3 retail customers, for industrial customers as 3 Would it be possible to bring that up on the
4 well? 4 screen, and to Section 2.0, whichis - thank
5 MR. GRENEMAN: 5 you, Ms. Gray. At pages 14 and 15 of that
6 A.lthink, in genera, it'sapplicable toall 6 section - it wasn't that far down, and | may
7 customer classes. 7 have written the page reference incorrectly.
8 MR. COXWORTHY: 8 MS. GRAY:
9 Q. Andthe concern for stability, rate stability, 9 Q.Line?
10 rate predictability, is that a- we ve been 10 MR. COXWORTHY:
11 talking about fairness. You vebeen asked 11 Q. It might have been line 14 and 15, thank you,
12 many questions about fairness, and isthat a 12 Ms. Gray. If you could scroll down, please,
13 component of fairnessin the making of rates 13 I’mtrying to find - there is a section there,
14 whether there is rate stability, rate 14 and, unfortunately, my reference is not taking
15 predictability, or isit a separate thing when 15 ustoit. Yes,itis, it's 2.2, thank you, so
16 one thinks about rate making principles? 16 itwason the next page. There sreference
17 MR. GRENEMAN: 17 there, "One alternative solution can be to
18 A.Waell, fairnessin asenseis subjective, so | 18 develop an O & M alocation where specifically
19 did list one of the itemsas perception of 19 assigned plant additions subsequent to the
20 fairness. 20 2007 GRA are de-escalated back to a datein
21 MR. COXWORTHY: 21 the 2007 GRA test year", and that aternative
22 Q. Soperception of fairnesswould be- rate 22 solution, isthat an alternative to what Mr.
23 stability and rate predictability, isthat an 23 Dean is proposing?
24 aspect of just a perception of fairness? 24 MR. GRENEMAN:
25 MR. GRENEMAN: 25  A.lthink | had asimilar question earlier.
Page 106 Page 108
1 A.Wadl, theapplication, in asense, is- | have 1 MR. COXWORTHY:
2 to be careful what| say, equa to all 2 Q. Yes absolutely.
3 parties, but in a sense evenly applied to all 3 MR. GRENEMAN:
4 parties. 4 A lt'sonly - thisisnot intended to be afina
5 MR. COXWORTHY: 5 solution. It's justlikeavery simple, if
6 Q. Arethere some objective measuresfor rate 6 you will, back trending, not intended to be
7 stability, rate predictability? 7 anything final, smply to open the door for
8 MR. GRENEMAN: 8 discussion. | understand that restating all
9 A.ldon't know - arethere measuresfor it? 9 plant in current dollars could be a
10 Wdll, | mean, as conditions change, how do 10 significant undertaking.
11 rates change, and that measure could be a 11 MR. COXWORTHY:
12 measure of rate stability. 12 Q. And you spoke to the merits of a more
13 MR. COXWORTHY: 13 comprehensive analysis.  You answered some
14 Q. And rate predictability? 14 questions about that. What are the merits of
15 MR. GRENEMAN: 15 the alternative solution, as opposed to, as
16 A. Andrate what? 16 you characterize it, afinal solution? What
17 MR. COXWORTHY: 17 would bethe merits inthis genera rate
18 Q. Predictability? 18 application, for instance, of implementing
19 MR. GRENEMAN: 19 instead an alternative solution, such asthe
20 A. Predictability, yes. More so stahility, less 20 onethat you'reoutlining inthat evidence
21 so predictability. 21 there?
22 MR. COXWORTHY: 22 MR. GRENEMAN:
23 Q. Thank you. Mr. Greneman, you were asked some 23 A.Wdl, | don't believeit doesfar enough.
24 questions with respect to the O & M treatment 24 It'sjust sort of like afirst step.
25 or component in specifically assigned charges, 25 MR. COXWORTHY:
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1 Q. Why would one start with thefirst step and 1 A Yesitis

2 perhaps stop for some period of timeat a 2 O'REILLY, Q.C.

3 first step? 3 Q Andl wantto takeyou to- you also, of

4 MR. GRENEMAN: 4 course, have seen Mr. Dean’s - his evidence as

5  A. It'ssomething you can do in five minutes on 5 well, his pre-filed evidence?

6 back of the envelope more or less. 6 MR. GRENEMAN:

7 MR. COXWORTHY: 7 A.l have.

8 Q. So nothing more than that in terms of when you 8 O'REILLY, Q.C.

9 talk about an alternative solution? 9 Q. Okay. | wantto take you to - | wonder can we
10 MR. GRENEMAN: 10 bring up Vale 083, Revison 1. Are you
11 A. No, nothing more than that. 11 familiar with this document, Mr. Greneman?
12 MR. COXWORTHY: 12 MR. GRENEMAN:

13 Q. Thank you, Mr. Greneman. 13 A.lwouldliketoread it, if | can.
14 MR. GRENEMAN: 14 O'REILLY, Q.C.:
15  A.ldon'tlikeit. 15 Q.Yes.
16 MR. COXWORTHY: 16 MR. GRENEMAN:
17 Q. Mr. Greneman, | have no further questions for 17 A. Canyou page down alittle bit lower.
18 you. Thank you. 18 MS. GLYNN:
19 CHAIRMAN: 19 Q. Mr. Greneman, the paper copy of the RFIis
20 Q. Mr.O'Reilly, sir. 20 behind you as well.
21 MR.ROBERT GRENEMAN - CROSS-EXAMINATION BY O'REILLY, 21 MR. GRENEMAN:
22 Q.C. 22 A.Thank you. Yes, I'm familiar with it.
23 O'REILLY, QC.: 23 O'REILLY, Q.C.:
24 Q. Thank you, Mr. Chairman. Good afternoon, Mr. 24 Q. You'refamiliar withit.
25 Greneman. Can you hear me? 25 MR. GRENEMAN:
Page 110 Page 112

1 MR. GRENEMAN: 1 A.Yes

2 A.lcan. 2 O'REILLY, Q.C.

3 O'REILLY, Q.C: 3 Q. Areyou in agreement with Hydro’'s approach to

4 Q. Mynameis Tom O’ Reilly, and with me isMr. 4 thisissue as outlined in its response to that

5 Denis Fleming. We represent the interest of 5 RFI?

6 Vae Newfoundland in this general rate 6 MR. GRENEMAN:

7 hearing. 7 A Yes

8 MR. GRENEMAN: 8 O'REILLY,Q.C.

9 A.Uh-hm. 9 Q. Pardon me?

10 O'REILLY, Q.C. 10 MR. GRENEMAN:

11 Q. I’'mnot going to go back over much of what has |11 A. Yes, | am.

12 aready been discussed about the O & M 12 O'REILLY, Q.C.:

13 alocation as specifically assigned charge. 13 Q. Okay, thank you. The other question | haveis
14 Thisisaparticular interest of Valein this 14 moreto get clarification on something that
15 particular - where we aretoday. | takeit 15 wasraised by Mr. Johnson thismorning. He
16 that from your rebuttal evidence, that you 16 talked about this bathtub curve, which | think
17 recognize that there is potential for inequity 17 you said you heard about, but you're not
18 in the present methodol ogy applied by Hydro in 18 overly familiar with the expression. You've
19 calculating the O & M chargefor specific 19 heard of it?

20 customers? 20 MR. GRENEMAN:

21 MR. GRENEMAN: 21 A.Yes andI'malittle bit more familiar with

22 A.ldo. 22 it now than | was when Mr. Johnson asked me.
23 O'REILLY, Q.C.: 23 O'REILLY, Q.C.

24 Q. lsthat correct? 24 Q. Yeah. Asl understood, the concept isthat -
25 MR. GRENEMAN: 25 and the initial stages of asset use, and I’'m

Discoveries Unlimited Inc., Ph: (709) 437-5028

Page 109 - Page 112




September 28, 2015

Multi-Page™

NL Hydro GRA

© 00 N O o~ WODN P

NNNNNRERRRRRRRR R
E WONPFPOOOWMNOUDMWRDNRO

25

Page 113

talking in the utility field, thereis an
initial period of time wherethe O & M costs
are high, then they become stable, and then as
they age, they get higher again, and | thought
in response to him you said that that may be
true of mass assets?

MR. GRENEMAN:

A. Yes.

O'REILLY, Q.C.:

Q. But not necessarily reflective of cost with
respect to a particular asset, for example, a
transmission line, towers, and so on, is that
- did | understand your evidence correctly?

MR. GRENEMAN:
A. Exactly, yes.
O'REILLY, Q.C.:
Q. Okay. | think that’sall | have. Thank you,
Mr. Greneman.
MR. GRENEMAN:
A. Thank you.
CHAIRMAN:
Q. Okay, Mr. Luk, do you have any -
MR. LUK:

Q. Yes, Mr. Chair, thank you.

MR. ROBERT GRENEMAN - CROSS-EXAMINATION BY MR. SENWUNG
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A. | did not produce them, and | think perhaps -
I'm not sure if Mr. Fagan is the more
appropriate witness to ask thisto or not.

MR. LUK:
Q. Isthisnot part of the cost of service?
MR. GRENEMAN:

A.ltis. 1did not personally producethese

numbers, though.
MR. LUK:
Q. Okay. WEell, perhaps you might be familiar
with the general -
MR. GRENEMAN:
A. Okay, sure.
MR. LUK:

Q. Causes of the changesin cost of service, in
any event, so maybe you can try this question.
MR. GRENEMAN:
A. Okay, sure.
MR. LUK:
Q. But if you don’'t have the information -
MR. GRENEMAN:
A. Sure.
MR. LUK:
Q. So | note that at line 23 under column 7, the
Labrador Interconnected return on rate base
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LUK:
MR. LUK:
Q. My nameis Senwung Luk. I’'m counsel to Innu
Nation at this proceeding. Good afternoon.
MR. GRENEMAN:
A. Good morning.
MR. LUK:

Q. Wejust have two main topics we want to cover
in this cross-examination. Thefirst iswith
respect to - Ms. Gray, if you could pull up
Volume 2, Schedule 1.1.

MS. GRAY:
Q. Volume 2 Exhibit, Mr. Luk?
MR. LUK:

Q. Exhibit - the cost of service exhibit. Scroll
downto Page2. My questionisabout the
return onrate base, and| assume you're
familiar with these numbers in this exhibit?

MR. GRENEMAN:

A. I’'m sorry, did you say you assume I’'m familiar

with what?
MR. LUK:

Q.